[L] Y StronSFlex

1.2 Hydraulic Hose Fittings

CONTENTS / INDEX

Reference Information: How To Order Fittings Page 2
. Part Number Page Number
Type Describe
Male [Femal| 45° | 90° Swaged Interlock Reusable [ Socketles
Ferrule 3to6 57 63
Metric Flat Seal 1031x [2021x |2024x |2029x 7t09
Metric Multiseal 2011x |2014x |2019x 10
Metric 24° Cone O-Ring Seal L.T. |1041x |2041x [2044x |2049x 11, 12 63
Metric 24° Cone O-Ring Seal H.T. |1051x |2051x [2054x |2059x 13, 14 57,58 64
Metric 24° Multiseal L.T. 2041xC|2044xC|2049xC 15
Metric 24° Multiseal H.T. 2051xC|2054xC|[2059xC 16
Metric 60° Cone Seal 1061x [2061x |2064x |2069x 17,18
Metric 74° Cone Seal 1071x [2071x |2074x |2079x 19t0 21
Metric 90° Cone Seal 1081x 21
Metric Standpipe Straight 5001x [5004x |5009x 2210 25
BSPT Male 1301x 26 58 70
BSP Flat Seal 1221x [2221x |2224x |2229x 27
BSP Multiseal 2211x |2214x |2219x 28,29
BSP 60° Cone Seal 1261x [2261x |2264x |2269x 29to 32 58, 59 65. 66 70
NPT 1561x 33 59 66 71
SAE O-Ring Seal 1601x 34
ORFS Flat Seal 1421x |2421x |2424x |2429x 35to0 37 66
NPSM 60° Cone Seal 2161x |2164x |2169x 38
JIC 74° Cone Seal 1671x [2671x |2674x |2679x 39t043 66, 67 71,72
SAE 90° Cone Seal 1781x [2781x |2784x |2789x 44 68 72
SAE Flange 3000PSI 8731x |8734x |8739x 45, 46 60 69
SAE Flange 6000PSI 8761x |8764x |8769x 47, 48 61
SAE Flange 9000PSI 8791x |8794x [8799x 62
JIS Flange 8811x |[8814x |8819x 49
JIS Metric 60° Cone 1861x |2861x |2864x |2869x 50, 51
JIS GAS 60° Cone 2961x |[2964x |2969x 52
Staplelok 6x01x 53 59
Banjo 7x01x 54, 55
Double Connection 9001x 56 62 72

www.strongflex.com




[{H Stron

1.2 Hydraulic Hose Fittings

1. Part Number

How To Order Fittings

xoox | — Lod — [od - [

2. Material Code

Fittings Thread or Dimension

Fitting Series Number

Material Sign

——— Hose Dash

Material Carbon Steel Copper Stainless Steel
Sign BR SS

3. Hose Code
Hose DN. 5 6 8 10 12 16 20 22 25 32 40 50 64
Hose Dash. -3 -4 -5 -6 -8 -10 -12 -14 -16 -20 -24 -32 -40

6. Size Code Table
Nom. Size (Thread Size or O.D.)x(of Thrds per Inch)

Dash | Inch BSPP BSPT NPT JiIC SAE ORFS FLANGE
-02 1/8" G1/8"x28 R1/8"x28 21/8"x27 5/16"x24 5/16"x24 / /
-03 | 3/16" / / / 3/8"x24 3/8"x24 /

-04 1/4" G1/4"x19 R1/4"x19 Z1/4"x18 7/16"%20 7/16"%20 9/16"x18 /
-05 | 5/16" / / / 1/2"x20 1/2"x20 / /
-06 3/8" G3/8"x19 R3/8"x19 Z3/8"x18 9/16"x18 9/16"x18 11/16"x16 /
-08 1/2" G1/2"x14 R1/2"x14 Z1/2"x14 3/4"x16 3/4"%x16 13/16"x16 1/2"
-10 5/8" G5/8"x14 / / 7/8"x14 7/8"x14 1"x14 /
-12 3/4" G3/4"x14 R3/4"x14 Z3/4"x14 1.1/16"x12 1.1/16"x12 1.3/16"x12 3/4"
-14 718" / / / 1.3/16"x12 1.3/16"x12 1.5/16"x12

-16 1" G1"x11 R1"x11 Z1"x11.5 1.5/16"x12 1.5/16"x12 1.7/16"x12 1"
-20 |1.1/4"| G1.1/4"x11 R1.1/4"x11 | Z1.1/4"x11.5 1.5/8"x12 1.5/8"x12 1.11/16"x12 1.1/4"
-24 |1.1/2"| G1.1/2"x11 R1.1/2"x11 | Z1.1/2"x11.5 1.7/8"x12 1.7/8"x12 2"x12 1.1/2"
-32 2" G2"x11 R2"x11 Z2"x11.5 2.1/2"x12 2.1/2"x12 2.1/2"x12 2'

NOTE: The dash of metric thread accords whit the O.D. of thread.

Example: Fitting series is 15611, fitting thread is Z1/2” x14, hose bore is 12mm and is made of carbon steel, the
number is 15611-08-08, if made of stainless steel, the number is 15611-08-08SS.

www.strongflex.com




[S]{B StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -101 Swaged Ferrule

Skive Ferrule for SAE 100R1A / EN 853 1ST Hose

Swaged Hose Fittings

Number: 00100 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
00100-03 5 3 17.5 27
00100-04 6 4 20.6 30
00100-05 8 5 215 31
00100-06 10 6 24 32
00100-08 12 8 28.5 34
00100-10 16 10 32 37
00100-12 20 12 26 43
00100-16 25 16 43 50
00100-20 32 20 50.5 59
00100-24 38 24 57 74
00100-32 51 32 70.6 78
Skive Ferrule for SAE 100R2A / EN 853 2ST Hose
Number: 00200 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
00200-03 4 3 20.6 27
00200-04 6 4 21 30
00200-05 8 5 24 31
00200-06 10 6 2545 32
00200-08 12 8 30 34
00200-10 16 10 334 37
00200-12 20 12 38 43
00200-16 25 16 46 50
00200-20 32 20 56 59
00200-24 38 24 62 74
00200-32 51 32 75 78
No-Skive Ferrule for SAE 100R1AT / EN 853 1SN Hose
Number: 00110 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
00110-03 5 3 17.5 27
00110-04 6 4 20.6 30
00110-05 8 5 20.8 31
00110-06 10 6 23.3 32
00110-08 12 8 27 34
00110-10 16 10 30 37
00110-12 20 12 34 43
00110-16 25 16 42.6 50
00110-20 32 20 52 59
00110-24 38 24 58 74
00110-32 51 32 72 78

www.strongflex.com




(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -101 Swaged Ferrule

No-Skive Ferrule for SAE 100R1AT / EN 853 1SN Hose

Swaged Hose Fittings

Number: 00110-A HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
| 00110-03A 5 3 12.5 23
00110-04A 6 4 14.1 30.5
00110-05A 8 5 15.7 30
00110-06A 10 6 18.1 32
= 00110-08A 12 8 215 34
00110-10A 16 10 24.7 37
00110-12A 20 12 28.6 42
00110-16A 25 16 36.6 51
No-Skive Ferrule for SAE 100R2AT / EN 853 2SN Hose
Number: 00210 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
00210-03 5 3 20.6 27
00210-04 6 4 22.2 30
00210-05 8 5 23 31
00210-06 10 6 25 32
00210-08 12 8 28.3 34
00210-10 16 10 315 37
00210-12 20 12 35.5 43
00210-16 25 16 45 50
00210-20 32 20 55 59
00210-24 38 24 62.5 74
Don’t recommend for engineering machine 00210-32 51 32 75.5 78
No-Skive Ferrule for SAE 100R2AT / EN 853 2SN Hose
Number: 03310 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
03310-03 5 3 21 23
03310-04 6 4 23 30.5
03310-05 8 5 24 30
03310-06 10 6 26 32
03310-08 13 8 29 34
03310-10 16 10 33 37
03310-12 19 12 37 42
03310-16 25 16 46 51
03310-20 32 20 59 59

www.strongflex.com




(S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -101 Swaged Ferrule

Ferrule for 4SP, 4SH/12-16, R12/06-16 Hose

Number: 00400 HOSE BORE DIMENSIONS

PART NO.

DN DASH D L
00400-04 6 4 22 375
00400-06 10 6 25.5 39
00400-08 12 8 29 41
00400-10 16 10 32.5 43
00400-12 20 12 37 51
00400-16 25 16 46.5 61.5
00400-20 32 20 67.5
00400-24 40 24 75
00400-32 50 32 79

Ferrule for 4SH, R12/32 Hose

Number: 00401 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
00401-20 32 20 53 67.5
00401-24 38 24 61 75
00401-32 51 32 77 79

Ferrule for SAE 100R12/20-24 Hose

Number: 01400 HOSE BORE DIMENSIONS
PART NO.
DN DASH D L
L 01400-20 32 20 55.5 67.5

01400-24 38 24 63.5 75

www.strongflex.com



(‘9]@ StronZFlex

1.2 Hydraulic Hose Fittings

1.2 -101 Swaged Ferrule

Ferrule for SAE 100R7/R8 Hose

Swaged Hose Fittings

Number: 00018 HOSE BORE DIMENSIONS

PART NO.
DN DASH D L
00018-03 4 3 14.2 27
00018-04 4 17 29
00018-05 8 5 18.8 31
00018-06 10 6 21 31
00018-08 12 8 25.5 34
00018-12 20 12 33 43
StronZFlex

Ferrule for Teflon Hose

Number: 00TFO HOSE BORE DIMENSIONS
PART NO.

DN DASH D L

00TF0-02 4 2 9.5 14.3
00TFO0-03 3 11.9 27.5
00TF0-04 6 4 14.2 30.7
00TFO0-05 8 5 16 30.6
00TF0-06 10 6 19 32.1
00TFO0-08 12 8 23.8 34.3
00TF0-10 16 10 27 37
00TFO0-12 20 12 30.2 42.8
00TFO0-14 22 14 334 42.7
00TF0-16 25 16 36.5 50.8

www.strongflex.com




[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -102 Metric Flat Seal

O-Ring Metric Male Flat Seal

Number: 10311 HOSE BORE DIMENSIONS
REF.JB/T988 PARTINO. | THREADE DN [ pbAasH| A | ¢ | s1
10311-12-04 | M12X1.25| 6 4 |225] 10 | 14
10311-14-04 | M14X15 6 4 |235| 11 | 17
10311-16-04 | M16X1.5 6 4 235 11 | 17
10311-16-05 | M16X15 | 8 5 |[235] 11 | 17
10311-16-06 | M16x15 | 10 6 |235] 11 | 17
10311-18-06 | M18x15 [ 10 6 |235] 11 | 19
10311-22-05 | M22x15 | 8 5 27 | 12 | 22
10311-22-06 | M22x15 [ 10 6 26 | 12 | 22
StronCFlex 10311-22-08 | M22x15 | 12 8 |[265] 12 | 22
10311-27-10 | M27x15 | 16 10 |315] 13 | 27
10311-30-12 | M30X1.5 | 20 12 |335] 14 | 32
10311-36-12 | M36X2 20 12 |355]| 16 | 38
10311-36-14 | M36X2 22 14 |355]| 16 | 38
10311-39-16 | M39X2 25 16 | 39 | 16 | 41
10311-45-20 | M45X2 32 20 |445]| 20 | 46
10311-52-24 | M52X2 40 24 |475]| 22 | 55
10311-64-32 | M64X2 50 32 |s525| 27 | 65

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 10312-Xx-xx.

Metric Female Flat Seat

Number: 20211 HOSE BORE DIMENSIONS
REF.JB/T9065.3 PARTNO. THREAD DN DASH A C S2
20211-10-02 | M1ox1 4 2 14 | 6 | 14
20211-12-03 | M12X1.25| 5 3 14 | 8 | 17
20211-14-04 | M14x15 | 6 4 |155] 85| 19
20211-14-05 | M14X15 | 8 5 |[155] 85 | 19
20211-16-04 | M16X15 | 6 4 |165] 8 | 22
20211-16-05 | M16X15 | 8 5 [165] 8 | 22
20211-16-06 | M16X1.5 | 10 6 |165] 8 | 22
20211-18-06 | M18X15 | 10 6 |175] 8 | 24
20211-20-08 | M20x1.5 | 12 8 [185] 10 | 27
Stron9Hex 20211-22-08 | M22x15 | 12 8 |185] 10 | 27
202112210 | M22x15 | 16 10 |195| 10 | 27
20211-24-10 | M24X15 | 16 10 | 205|105/ 30
20211-30-12 | M30X1.5 | 20 12 |215| 11 | 36
20211-33-14 | M33x2 | 22 14 |215| 13 | &
20211-4220 | M42x2 | 32 20 | 26 | 15 | s0

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20212-xx-xx.

www.strongflex.com



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -102 Metric Flat Seal

Metric Female Flat Seat

Swaged Hose Fittings

Number: 20211-T
REF.JB/T9065.3

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S2
20211-18-05T | M18X1.5 8 5 17.5 8 24
20211-20-06T | M20X1.5 10 6 16 10 24
20211-22-06T | M22X1.5 10 6 16 10 27
20211-24-08T | M24X1.5 12 8 165 11 30
20211-27-08T | M27X1.5 12 8 185 ] 10 32
20211-27-10T | M27X1.5 16 10 195 10 32
20211-36-12T M36X2 20 12 20 13 41
20211-36-14T M36X2 22 14 20 13 41
20211-39-16T M39X2 25 16 2351 13 46
20211-45-20T M45X2 32 20 25 15 55
20211-52-24T M52X2 40 24 25 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20212-xx-xxT.

45° Metric Female Flat Seat

Number: 20241
REF.JB/T9065.3
A

e

I el s
[ S =
P :ll 3

A 20241

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A C H S2
20241-14-04 M14X1.5 6 4 405 | 85 | 185 | 19
20241-14-05 M14X1.5 8 5 42.7 | 85 [ 19.3 | 19
20241-16-05 M16X1.5 8 5 4441 85 20 22
20241-18-06 M18X1.5 10 6 45.7 8 214 24
20241-22-08 M22X1.5 12 8 58.9 | 10 24 27
20241-30-12 M30X1.5 20 12 78.1 ] 11 30 36
20241-36-16 M36X2 25 16 85.7 | 13 | 315 41
20241-42-20 M42X2 32 20 97.3 | 15 | 36.6 | 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20242-xx-xx.

45° Metric Female Flat Seat

Number: 20241-T
REF.JB/T9065.3

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A C H S2
20241-27-10T | M27X1.5 16 10 68.6 | 10 | 243 | 32
20241-36-12T M36X2 20 12 75 13 [ 275 ] 41
20241-36-14T M36X2 22 14 7731 13 27 41
20241-39-16T M39X2 25 16 839 | 13 | 29.7 | 46
20241-45-20T M45X2 32 20 945 15 | 338 | 55
20241-52-20T M52X2 32 20 945 | 17 | 338 | 60
20241-52-24T M52X2 40 24 108.5| 17 | 37.7 | 60
20241-60-28T M60X2 45 28 118.7| 20 | 436 | 70
20241-64-32T M64X2 50 32 127.8] 23 | 456 | 75

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20242-xx-xxT.

www.strongflex.com




[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -102 Metric Flat Seal

90° Metric Female Flat Seat

Number: 20291 HOSE BORE DIMENSIONS
REF.JB/T9065.3 PARTINO. | THREADE DN [ DAsH| A | ¢ | H | s2
20291-12-02 | M12x15 | 4 2 |265]| 8 |[305]| 17
20291-12-04 | M12X15 6 4 30 | 8 |335] 17
20291-14-04 | M14X1.5 6 4 30 [ 85| 34 | 19
20291-14-05 | M14X15 | 8 5 33 [ 85| 37 | 19
20291-16-04 | M16X1.5 6 4 30 [ 8 | 35 | 22
20291-16-05 | M16X15 | 8 5 34 | 8 | 38 | 22
20291-16-06 | M16X15 | 10 6 |353]| 8 [403] 22
20291-18-06 | M18X15 [ 10 6 |3575| 8 |[413| 24
20291-22-08 | M22x15 | 12 8 41 | 10 | 48 | 27
20291-22-10 | M22x15 | 16 10 |575| 10 | 53 | 27
StroncFex 20291-30-12 | M30X1.5 | 20 12 |662| 11 [635] 36
20291-33-14 | M33X2 22 14 |712| 13 | 65 | &1
20291-36-16 | M36X2 25 16 |767| 13| 70 | &
20291-42-20 | M42x2 32 20 |915]| 15 [ 825 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20292-xx-xx.

90° Metric Female Flat Seat

Number: 20291-T HOSE BORE DIMENSIONS
REF.JB/T9065.3 PARTNO. | THREADE DN [ DAsH| A | ¢ | H | s2
20291-18-05T | m18x1.5 | 8 5 33| 8 | 39 | 24
20291-24-08T | M24x15 | 12 8 41 | 11 [455] 30
20291-27-04T | M27X1.5 6 4 30 | 10 | 355] 32
20291-27-08T | M27x15 | 12 8 4 | 10 | 46 | 32
20291-27-10T | mM27x15 | 16 10 | 56| 10 | 51| 32
20291-36-14T | M36X2 22 14 |712] 13 | 61 | 4
20291-39-16T | M39x2 25 16 |76.7]| 13 675 46
20291-45-20T | M45x2 32 20 |[915]| 15 | 785 55
20291-52-20T | M52x2 32 20 |o915]| 17 | 785 | 60
20291-52-24T | Ms52x2 40 24 [100.4] 17 | 92 | 60
StronFlex 20291-60-28T | M60X2 45 28 [1190.9] 20 |1065| 70
20291-64-32T | M64x2 50 32 | 131 | 23 |1133] 75

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20292-xx-xxT.

www.strongflex.com



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -103 Metric Multiseal

Metric Female Multiseal

Swaged Hose Fittings

Number: 20111

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S2
20111-10-03 M10X1 5 3 18 2.5 14
20111-12-04 M12X1.5 6 4 18.5 4 17
20111-12-05 M12X1.5 8 5 18.5 4 17
20111-16-05 M16X1.5 8 5 20 4.5 22
20111-18-06 M18X1.5 10 6 21.5 4 24
20111-18-08 M18X1.5 12 8 22 24
20111-20-06T | M20X1.5 12 6 205 55 24
20111-22-08 M22X1.5 12 8 235 5 27
20111-24-08T | M24X1.5 12 8 22 5.5 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-10T | M27X1.5 16 10 23.5 7 32
20111-30-12 M30X2 20 12 26.5 7 36
20111-36-14T M36X2 22 14 26 7 41

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20112-XX-xx.

45° Metric Female Multiseal

Number: 20141 HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A C H S2
20141-10-03 M10X1 5 3 411 25 | 20.7 ] 14
20141-12-04 M12X1.5 6 4 43 4 22 17
20141-16-06 M16X1.5 10 6 474 | 45 | 241 | 22
20141-18-06 M18X1.5 10 6 48.5 4 24.2 24
20141-22-08 M22X1.5 12 8 62.1 2721 27
20141-30-12 M30X1.5 20 12 80.9 6 335 | 36
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number
is 20142-Xx-XX.
90° Metric Female Multiseal
Number: 20191 HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A C H S2
20191-10-03 M10X1 5 3 27 25 | 355 14
20191-12-04 M12X1.5 6 4 30 4 3751 17
20191-14-04 M14X1.5 6 4 30 4.5 38 19
20191-16-05 M16X1.5 8 5 33 45 | 415 22
20191-16-06 M16X1.5 10 6 353 | 45 | 438 22
20191-18-06 M18X1.5 10 6 35.3 4 453 | 24
20191-20-08 M20X1.5 12 8 41 55 52 27
20191-22-08 M22X1.5 12 8 41 5 525 27
20191-24-10 M24X1.5 16 10 58 5 58.5 30
20191-30-12 M30X2 20 12 67.5 6 68.5] 36

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 20192-XX-XX.

www.strongflex.com

10



®
[L] StrongFlex 1.2 Hydraulic Hose Fittings
Swaged Hose Fittings

1.2 -104 Metric 24° Cone Seat L.T.

Metric Male 24°Cone Seat L.T.

Number: 10411 HOSE BORE DIMENSIONS
Ref. DIN3861 - ISO 8434-1 PARTNO. THREAD DN DASH| A C S1
A 10411-12-04 M12X1.5 6 4 2051 10 12
c 10411-14-04 M14X1.5 6 4 2051 10 14
L% I 10411-14-05 | M14X1.5 8 5 215 10 | 14
24°(Ww ‘[ﬁ/ 10411-16-04 M16X1.5 6 4 2251 11 17
- | | " ” |I | | ] 10411-16-05 M16X1.5 8 5 2251 11 17
10411-16-06 M16X1.5 10 6 2251 11 17
o 10411-18-05 M18X1.5 8 5 2351 11 19
One Piece Number: 10411-FB 10411-18-06 M18X1.5 10 6 215 11 19
10411-22-06 M22X1.5 10 6 2451 12 24
e __\ﬂﬁ 10411-22-08 M22X1.5 12 8 26 12 24
. 10411-26-08 M26X1.5 12 8 265 12 27
Gl 10411-26-10 M26X1.5 16 10 27 12 27
o 10411-27-10 M27X1.5 16 10 32 14 30
A 10411-30-10 M30X2 16 10 29 14 32
I 10411-30-12 M30X2 20 12 29 14 32
s"““ Hex 10411-36-16 M36X2 25 16 315 14 38
10411-45-20 M45X2 32 20 36 16 46
10411-52-24 M52X2 40 24 38 16 55

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 10412-xx-xx.

Metric Female 24°Cone O-Ring L.T.

Number: 20411-T HOSE BORE DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNG TR B T oAk | e [Ta [ ¢ [ 2
C A 20411-12-04 | M12X1.5 6 4 004.5X1.5 | 26 1 17
20411-14-04T | M14X1.5 6 4 006.5X1.5 | 275 | 2 19
20411-14-06 | M14X1.5 10 6 006.5X1.5 | 275 | 2 19
20411-16-04T | M16X1.5 6 4 008.0X1.5 | 28 2 22
24° 20411-16-05T | M16X1.5 8 5 008.0X1.5 | 28 2 22
20411-16-06 | M16X1.5 10 6 008.0X1.5 | 28 2 22
20411-18-06T | M18X1.5 10 6 010.0X1.5 | 29 | 25 | 24
20411-18-08 | M18X1.5 12 8 010.0X1.5 | 295 | 25 | 24
20411-22-06T | M22X1.5 10 6 012.0X2.0 [ 29 | 25 | 27
One Piece Number: 20411-FB 20411-22-08T | M22X1.5 12 8 012.0X2.0 | 32 25 | 27
20411-26-10T | M26X1.5 16 10 015.0X2.0 [ 35 | 25 | 32
20411-26-12 | M26X1.5 20 12 015.0X2.0 | 35 | 25 | 32
20411-27-10T | M27X1.5 16 10 015.0X2.0 [ 28 | 25 | 32
20411-30-10T | M30X2 16 10 020.0X2.0 | 35 4 36
20411-30-12T | M30X2 20 12 020.0X2.0 | 38 4 36
20411-36-12T | M36X2 20 12 026.0X2.0 | 35 4 41
20411-36-14T | M36X2 22 14 026.0X2.0 | 36 4 41
StronCFlex 20411-45-16T | M45X2 25 16 032.0X2.5 | 41 5 55
20411-45-20T | M45X2 32 20 032.0X2.5 | 42 5 55
20411-52-20T | M52X2 32 20 038.0X2.5 | 44 | 55 | 60
20411-52-24T | M52X2 40 24 038.0X25 | 44 | 55 | 60
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20412-xx-xxT.

www.strongflex.com 11



1.2 Hydraulic Hose Fittings

1.2 -104 Metric 24° Cone Seat

L.T.

Swaged Hose Fittings

45° Metric Female 24°Cone O-Ring L.T.

Number: 20441-T HOSE BORE DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNG TR B T oAk | N A T c [ n | =2
20441-14-04T | M14X1.5 6 4 006.5X1.5 | 49 2 27 | 19
20441-16-05T | M16X1.5 8 5 008.0X1.5 | 51.5 2 282 | 22
20441-16-06 | M16X1.5 10 6 008.0X1.5 [ 53.4 | 2 |29.2| 22
20441-18-05T | M18X1.5 8 5 010.0X15 | 46.2 | 25 | 229 22
20441-18-06T | M18X1.5 10 6 010.0X1.5 | 54.2 | 2.5 | 299 | 24
20441-22-05T | M22X1.5 8 5 012.0X2.0 | 48.3 | 2.5 25 27
20441-22-06T | M22X1.5 10 6 012.0X2.0 | 50.4 | 2.5 | 25.7 | 27
20441-26-08T | M26X1.5 12 8 015.0X2.0 62 25 |1 26.1] 32
One Piece Number: 20441-FB 20441-26-12 | M26X1.5 20 12 015.0X2.0 | 86.9 | 2.5 | 39.5| 32
1 A 20441-27-10T | M27X1.5 16 10 015.0X2.0 72 25 | 27.7] 32
20441-27-12 | M27X1.5 20 12 015.0X2.0 | 86.9 | 2.5 | 39.5| 32
20441-30-10T M30X2 16 10 020.0X2.0 | 75.1 4 30.3 | 36
20441-30-12T M30X2 20 12 020.0X2.0 [ 89.1| 4 |41.7| 36
20441-36-12T M36X2 20 12 026.0X2.0 82 4 339 | 41
20441-36-14T M36X2 22 14 026.0X2.0 [ 83.7| 4 |333| 41
20441-45-20T M45X2 32 20 032.0X2.5 | 99.6 5 40.8 | 55
StronSHex 20441-52-20T | Ms2x2 32 20 | 038.0x25 [ 103 | 55 | 419 60
20441-52-24T M52X2 40 24 038.0X2.5 | 117 | 5.5 | 45.8| 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20442-xx-xxT.
90° Metric Female 24°Cone O-Ring L.T.

Number: 20491-T HOSE BORE DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNG TR B T oAk | N A T c [ v | =2
20491-12-03T | M12X1.5 5 3 04.5X1.5 24 1 24 | 14
20491-12-04 M12X1.5 6 4 04.5X1.5 30 1 445 | 17
20491-14-04T | M14X1.5 6 4 06.5X1.5 30 2 46 | 19
20491-16-04T | M16X1.5 6 4 06.5X1.5 30 1.5 48 22
20491-16-05T | M16X1.5 8 5 08.0X1.5 33 | 15 | 51 | 22
20491-18-06T | M18X1.5 10 6 08.0X1.5 | 355 2 52.8 | 24
20491-22-08T | M22X1.5 12 8 011.0X2.0 | 41 | 25 | 57 | 27
20491-26-08T | M26X1.5 12 8 015.0X2.0 41 2.5 61 27
20491-26-10T | M26X1.5 16 10 015.0X2.0 | 56.5 | 2.5 | 67.5| 32
20491-27-10T | M27X1.5 16 10 015.0X2.0 | 56,5 | 25 | 67.5| 32
One Piece Number: 20491-FB 20491-30-10T M30X2 16 10 020.0X2.0 [ 56.5| 4 |57.2| 36
A 20491-30-12T M30X2 20 12 016.3X2.4 | 65.5 3 81 36
/,_I,].E | 20491-36-12T M36X2 20 12 026.0X2.0 [ 655 | 4 69 | 41
i ’f" Ar—, 20491-36-14T M36X2 22 14 026.0X2.0 | 71.2 4 70 41
20491-45-16T M45X2 25 16 032.0X25 [ 76.7| 5 75 | 55
- 20491-45-20T M45X2 32 20 032.0X2.5 | 91.5 5 88.5 | 55
‘F ' 20491-52-24T M52X2 40 24 038.0X2.5 [109.4| 5.5 | 104 | 60
% Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 20492-xx-xxT.

www.strongflex.com

12



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -105 Metric 24° Cone Seat H.T.

Metric Male 24°Cone Seat H.T.

Swaged Hose Fittings

Number: 10511
Ref. DIN 3861 - ISO 8434

A

T TEI—

81

One Piece Number: 10511-FB

StronCFlex

HOSE BORE DIMENSIONS
PART NO THREAD E

DN DASH| A Cc S1
10511-14-04 M14X1.5 6 4 241 12 14
10511-16-04 M16X1.5 6 4 26.5| 12 17
10511-18-04 M18X1.5 6 4 26.5 | 12 19
10511-20-05 M20X1.5 8 5 27 12 22
10511-20-06 M20X1.5 10 6 26.5 | 12 22
10511-22-05 M22X1.5 8 5 305 | 14 24
10511-22-06 M22X1.5 10 6 305 14 24
10511-22-08 M22X1.5 12 8 31 14 24
10511-24-08 M24X1.5 12 8 315 14 27
10511-30-10 M30X2 16 10 36 16 32
10511-30-12 M30X2 20 12 36 16 32
10511-36-12 M36X2 20 12 405 | 18 41
10511-36-16 M36X2 25 16 415 | 18 38
10511-42-16 M42X2 25 16 44 20 46
10511-42-20 M42X2 32 20 45 20 46
10511-52-20 M52X2 32 20 50 22 55

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 10512-xx-xx.

Metric Female 24°Cone O-Ring H.T.

Number: 20511-T
Ref. DIN 3865 - ISO 12151-2

C A

24°

One Piece Number: 20511-FB

a2

-“.\:

StronCFlex

HOSE BORE |TUBE DIMENSIONS
PART NO THREAD E O RING

DN DASH | O.D. A C S2
20511-16-04T | M16X1.5 6 4 8 006.5X1.5 29 15 22
20511-18-04T | M18X1.5 6 4 10 008.0X1.5 | 26.5 2 22
20511-18-06T | M18X1.5 10 6 10 008.0X1.5 29 2 24
20511-20-05T | M20X1.5 8 5 12 010.0X15 | 265 | 25 24
20511-20-08T | M20X1.5 12 8 12 010.0X15 | 315 | 2.5 27
20511-22-06T | M22X1.5 10 6 14 011.0X2.0 | 285 | 25 27
20511-22-08T | M22X1.5 12 8 14 011.0X2.0 | 315 | 2.5 27
20511-24-06T | M24X1.5 10 6 16 013.0X2.0 | 285 | 25 30
20511-24-08T | M24X1.5 12 8 16 013.0X2.0 30 3 30
20511-30-10T M30X2 16 10 20 016.3X2.4 | 36 3 36
20511-30-12T M30X2 20 12 20 016.3X2.4 | 39 3 36
20511-36-12T M36X2 20 12 25 020.3X2.4 | 36 3 41
20511-36-14T M36X2 22 14 25 020.3X2.4 | 36 3 41
20511-42-12T M42X2 20 12 30 025.3X2.4 | 40 5 50
20511-42-16T M42X2 25 16 30 025.3X2.4 | 41 5 50
20511-52-20T M52X2 32 20 38 033.3X2.4 | 44 6.5 60
20511-52-24T M52X2 40 24 38 033.3X2.4 | 44 6.5 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting

series number is 20512-xx-xxT.

www.strongflex.com

13



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -105 Metric 24° Cone Seat H.T.

45° Metric Female 24°Cone O-Ring H.T.

Number: 20541-T HOSE BORE DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTINO THREADE DN DASH ORING A © H S2
20541-16-04T M16X1.5 6 4 006.5X1.5 | 504 | 1.5 | 283 22
20541-16-05T | M16X1.5 8 5 006.5X1.5 | 52.2 | 1.5 | 289 | 22
20541-18-04T M18X1.5 6 4 008.0X1.5 | 43.4 2 21.3| 22
20541-18-06T | M18X1.5 10 6 008.0X1.5 | 54.3 2 296 24
20541-20-06T M20X1.5 10 6 010.0X1.5 | 49.7 | 25 25 24
20541-20-08T | M20X1.5 12 8 010.0X1.5 | 67.8 | 2.5 | 328 | 27
20541-22-06T M22X1.5 10 6 011.0X2.0 | 49.6 | 25 | 253 27
20541-22-08T | M22X1.5 12 8 011.0X2.0 | 68.1 | 2.5 | 33.2| 27
20541-24-08T M24X1.5 12 8 013.0X2.0 | 62.5 3 275 30
One Piece Number: 20541-FB 20541-30-10T M30X2 16 10 016.3X2.4 | 75.8 3 31 36
L A 20541-30-12T M30X2 20 12 016.3X2.4 | 90.5 3 424 | 36
| 20541-36-12T M36X2 20 12 020.3X2.4 | 82.7 3 346 41
b —— - 20541-36-14T M36X2 22 14 020.3X2.4 | 84.4 3 34 41
M 20541-42-16T | M42x2 25 16 | 0253x2.4 [923| 5 |368]( 50
. 20541-52-20T M52X2 32 20 033.3X2.4 [103.4| 6.5 |41.2| 60
\ 20541-52-24T M52X2 40 24 033.3X2.4 |1159| 6.5 | 45.1| 60
s"nn Flex Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 20542-xx-xXT.
90°Metric Female 24°Cone O-Ring H.T.

Number: 20591-T HOSE BORE DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNO. THREAD E DN DASH ORING A © H S2
20591-16-04T | M16X1.5 6 4 006.5X1.5 | 30 15 | 48 22
20591-16-05T M16X1.5 8 5 006.5X1.5 33 1.5 51 22
20591-18-05T | M18X1.5 8 5 008.0X1.5 | 33 2 |415] 22
20591-18-06T M18X1.5 10 6 008.0X1.5 | 35.5 2 528 | 24
20591-20-06T | M20X1.5 10 6 010.0X1.5 | 35.8 | 25 | 463 | 24
20591-20-08T M20X1.5 12 8 010.0X1.5 41 2.5 61 27
20591-22-06T | M22X1.5 10 6 011.0X2.0 | 35.3 | 25 | 46.8| 27
20591-22-08T M22X1.5 12 8 011.0X2.0 41 2.5 61 27
20591-24-08T | M24X1.5 12 8 013.0X2.0 | 41 3 53 30
20591-24-10T M24X1.5 16 10 013.0X2.0 | 56,5 | 2.5 [ 67.5| 30
One Piece Number: 20591-FB 20591-30-10T M30X2 16 10 016.3X2.4 | 56.5 3 |605] 36
A 20591-30-12T M30X2 20 12 016.3X2.4 | 65.5 3 81 36
2 l 20591-36-12T M36X2 20 12 020.3X2.4 | 66.2 3 70 41
’/’:__—ITE_ R 20591-36-14T M36X2 22 14 020.3X2.4 | 71.2 3 71 41
20591-42-16T M42X2 25 16 025.3X2.4 | 78 5 |775] 50
20591-52-20T M52X2 32 20 033.3X2.4 93 6.5 89 60
Eﬁ 20591-52-24T M52X2 40 24 033.3X2.4 1109.4| 6.5 | 103 | 60
6 Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

StronSFex i 20502-3x-XXT.

www.strongflex.com 14



®
[L] StrongFlex 1.2 Hydraulic Hose Fittings
Swaged Hose Fittings

1.2 -106 Metric 24° Mutiseal L.T.

Metric Female 24° Multiseal L.T

Number: 20411C HOSE BORE |TUBE DIMENSIONS
PART NO. THREAD E
Ref. DIN 3868 DN DASH | O.D. A (& S2
C A 20411C-12-04 | M12X1.5 6 4 6 195 | 35 17
- 20411C-14-04 | M14X1.5 6 4 8 205 | 35 19
oz 20411C-16-04 | M16X1.5 4 10 21 35 22
L 20411C-16-05 M16X1.5 8 5 10 21 35 22
_j“—[iJ“UUH—L‘ 20411C-16-06 M16X1.5 10 6 10 21 35 22
20411C-18-06 M18X1.5 10 6 12 22.5 3 24
Q<§2 2041 1 C 20411C-22-08 M22X1.5 12 8 15 24 4.5 27
C 20411C-30-12 M30X2 20 12 22 27 7 36
] A 20411C-30-14 M30X2 22 14 22 27 7 36
&@ 20411C-36-16 M36X2 25 16 28 29 6.5 41
T == | 20411C-22-06T | M22X1.5 10 6 15 235 | 45 27
w4 -”]]Uﬂ]]”jj 20411C-26-10T | M26X1.5 16 10 18 27 4 32
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-45-20T M45X2 32 20 35 33 7 55
S2 2041 1 C'T 20411C-52-24T M52X2 40 24 42 34 8 60
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20412C-Xxx-XX.

45° Metric Female 24° Multiseal L.T

Number: 20441C HOSE BORE |TUBE DIMENSIONS
PART NO THREAD E
Ref. DIN 3868 DN DASH | O.D. A C H S2
% 20491C-14-04 | M14X1.5 6 4 8 30 35 1395 19
'ﬂ', 20491C-16-04 | M16X1.5 4 10 30 3.5 40 22
s/
z|© W/ 20491C-16-05 | M16X1.5 8 5 10 33 3.5 43 22
\,/ 20491C-16-06 | M16X1.5 10 6 10 |35.25( 3.5 | 45.2 | 22
&

S2 20441C 20491C-18-06 | M18X1.5 10 6 12 |35.25( 3 |47.25] 24
20491C-22-08 | M22X1.5 12 8 15 41 4.5 53 27
20491C-26-10 | M26X1.5 16 10 18 | 56.5 4 60 32
20491C-30-12 M30X2 20 12 22 | 65.5 7 68.5 | 36
20491C-36-12T | M36X2 20 12 28 | 655] 65 | 675 41

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting
series number is 20442C-XX-XX.

90° Metric Female 24° Multiseal L.T

Number: 20491C HOSE BORE |TUBE DIMENSIONS
Ref. DIN 3868 PARTNO THREAD & DN DASH | O.D. A C H S2
20491C-14-04 | M14X1.5 6 4 8 30 | 35 |395]| 19
20491C-16-04 | M16X1.5 6 4 10 | 30 | 35 | 40 | 22
20491C-16-05 | M16X1.5 8 5 10 | 33 | 35 | 43 | 22
20491C-16-06 | M16X1.5 10 6 10 [35.25| 35 | 452 | 22
20491C-18-06 | M18X1.5 10 6 12 [35.25| 3 |[47.25| 24
20491C-22-08 | M22X1.5 12 8 15 | 41 | 45 | 53 | 27
20491C-26-10 | M26X1.5 16 10 18 [ 565 | 4 60 | 32
20491C-30-12 | M30x2 20 12 22 |655| 7 |685]| 36
20491C-36-12T | M36X2 20 12 28 | 655| 6.5 | 675 41
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting

20491C-T [series number is 20492C-xx-xx.

www.strongflex.com 15



®
[L] StrongFlex 1.2 Hydraulic Hose Fittings
Swaged Hose Fittings

1.2 -107 Metric 24° Mutiseal H.T.

Metric Female 24°Multiseal H.T

Number: 20511C-T HOSE BORE TUBE DIMENSIONS
Ref. DIN 3868 PARTING THREADE DN DASH O.D. A © S2
C A 20511C-18-04T | M18X1.5 6 4 10 21 3 22
20511C-20-05T | M20X1.5 8 5 12 215 | 45 | 24
20511C-20-06T | M20X1.5 10 6 12 215 ]| 45 24
20511C-22-06T | M22X1.5 10 6 14 215 | 45 | 27
L 20511C-24-08T | M24X1.5 12 8 16 23 5 30
20511C-30-10T | M30X2 16 10 20 265 | 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
20511C-42-16T | M42X2 25 16 30 295 9 50
20511C-52-20T M52X2 32 20 38 34 8 60
2051 1 C-T Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number
is 20512C-xx-XxT.
45° Metric Female 24°Multiseal H.T
Number: 20541C-T HOSE BORE TUBE DIMENSIONS
Ref. DIN 3868 PARTNG THREADE DN DASH O.D. A © H S2
20541C-16-04T | M16X1.5 6 4 8 44.8 3 227 19
20541C-18-04T | M18X1.5 16 4 10 437 3 | 216 22
20541C-20-06T | M20X1.5 10 6 12 489 | 45 | 246 | 24
20541C-24-08T | M24X1.5 12 8 16 61.4 | 25 | 265 30
20541 C-T Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number
is 20542C-xx-XxT.
90° Metric Female 24° Multiseal H.T
Number: 20591C-T HOSE BORE TUBE DIMENSIONS
Ref. DIN 3868 PARTNO THREADE DN DASH O.D. A © H S2
20591C-16-04T | M16X1.5 6 4 8 30 3 40 22
20591C-18-04T | M18X1.5 6 4 10 30 3 |[385] 22
20591C-20-05T | M20X1.5 8 5 12 33 4.5 42 24
20591C-20-06T | M20X1.5 10 6 12 353 | 45 | 457 | 24
20591C-22-06T | M22X1.5 10 6 14 353 | 45 (447 | 27
- 20591C-24-08T | M24X1.5 12 8 16 41 5 52 30
20591C-30-10T M30X2 16 10 20 56.5 7 56.5| 36
O 20591C-36-12T | M36X2 20 12 25 65.5| 6.5 | 665 41
20591C-42-16T M42X2 25 16 30 78 9 73.5| 50
20591C-52-20T | M52X2 32 20 38 93 8 |875]| 60
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20592C-xx-xxT.

www.strongflex.com 16



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -108 Metric 60° Cone

Metric Male 60°Cone

Number: 10611 HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1

10611-14-04 M14X1.5 6 4 2351 11 19

10611-16-05 M16X1.5 8 5 265 12 22

10611-18-06 M18X1.5 10 6 295 12 24

10611-22-08 M22X1.5 12 8 32 14 27

10611-24-10 M24X1.5 16 10 35 14 30

10611-26-10 M16X1.5 16 10 35 16 32

10611-27-10 M27X1.5 16 10 18 16 32

10611-30-12 M30X1.5 20 12 20 18 36

s"unn Hex 10611-33-16 M33X2 25 16 43 20 46
10611-42-20 M42X2 32 20 46 20 50

10611-45-20 M45Xx2 32 20 46 20 55

10611-48-24 M48X2 40 24 46 20 55

10611-52-24 M52X2 40 24 48 20 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 10612-XX-Xx.

Metric Female 60° Cone

Number: 20611 HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S2
20611-14-04 M14X1.5 6 4 18 5.5 19

C A
20611-16-05 M16X1.5 8 5 19 55 22
S 1 20611-16-06 M16X1.5 10 6 19 5.5 22

. 2 P
60"(>LLI 20611-18-06 M18X1.5 10 6 20 55 24
h )-E.U_L | " " " " | | 20611-20-08 M20X1.5 12 8 22 6.5 27
3
A 3: 20611-22-08 M22X1.5 12 8 22.5 6 27
S2 20611-24-10 M24X1.5 16 10 24.5 6.5 30
20611-26-10 M26X1.5 16 10 25.5 6 32
StronCFlex

20611-30-12 M30X2 20 12 26.5 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20612-xx-xx.

www.strongflex.com

17



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -108 Metric 60° Cone

45° Metric Female 60° Cone

Number: 20641 HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2

20641-14-04 M14X1.5 6 4 42.7 | 55 | 206 | 19

20641-16-05 M16X1.5 8 5 451 | 55 | 218 22

20641-18-06 M18X1.5 10 6 474 | 56 [ 232 24

20641-22-08 M22X1.5 12 8 61.8 6 26.8 | 27

20641-27-10 M27X1.5 16 10 71.4 6 29.2 | 32

20641-30-12 M30X1.5 20 12 81.6 6 335 ]| 36

20641-36-14T M36X2 22 14 819 | 65 | 316 | 41

20641-39-16T M39X2 25 16 88.5| 65 | 343 | 46

SIrnn He“ 20641-45-20T M45X2 32 20 99.1| 85 | 384 | 55
20641-52-24T M52X2 40 24 113.4| 10 | 42.7 | 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20642-xx-xx.

90° Metric Female 60° Cone

Number: 20691 HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2

20691-14-04 M14X1.5 6 4 30 5.5 37 19

20691-16-05 M16X1.5 8 5 33 55 | 405 | 22

20691-18-06 M18X1.5 10 6 353 | 55 | 438 | 24

20691-22-08 M22X1.5 12 8 41 6 52 27

20691-27-10 M27X1.5 16 10 56 6 55 32

20691-30-12 M30X1.5 20 12 66.2 6 68.5 | 36

20691-36-16 M36X2 25 16 78 6.5 | 765 | 41

20691-36-14T M36X2 22 14 71.2 | 65 | 675 | 41

20691-39-16T M39X2 25 16 76.7 | 6.5 74 46

20691-45-20T M45X2 32 20 91.5] 85 85 55

60" 20691-52-24T M52X2 40 24 109.4| 10 99 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20692-xx-xx.

www.strongflex.com

18



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -109 Metric 74° Cone

Metric Male 74° Cone Seat

Number: 10711 HOSE BORE DIMENSIONS
PARTNO. |THREAD E
Ref. GB/T5628 DN [ pasH| A | ¢ | s1
10711-12-03 | M12x1 4 3 |265]157]| 14
10711-14-04 | M14x15 | 6 4 |[305] 18 | 17
10711-14-06 | M14X15 | 10 6 305 18 | 17
10711-16-05 | M16X15 | 8 5 |[315] 10 [ 17
10711-16-06 | M16X1.5 | 10 6 315 19 | 17
10711-18-06 | M18X1.5 | 10 6 315 19 | 19
107112208 | M22x15 | 12 8 35 [ 195 22
10711-24-08 | M24x15 | 12 8 37 [ 20 | 24
Stron“Fex 10711-27-10 | m27x15 | 16 10 [385]205][ 27
10711-30-12 | M30X1.5 | 20 12 |425( 23 | 22
10711-30-12 | M3ox2 | 20 12 |455| 26 | 32
10711-33-12 | M33x2 | 20 12 | 45 | 26 | 36
10711-36-14 | M36X2 | 22 14 | 45 | 26 | 38
10711-39-16 | M39x2 | 25 16 | 48 [275] a1
107114220 | ma2x2 | 32 20 | 52 [285] 46
10711-4520 | M45x2 | 32 20 | 52 [285] 46

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 10712-xx-xx.

Metric Female 74° Cone Seat

Number: 20711 HOSE BORE DIMENSIONS
Ref. GB/T5628 PARTNO. | THREADE DN | DASH| A c | s2
20711-10-02 | M10X1 4 2 14 | 75 | 17
20711-12-03C | M12X1.25| 5 3 14 | 9 | 17
20711-12-03 | M12X15 5 3 14 | 10 | 17
20711-12-04 | M14X15 6 4 |1a5| 10 | 17
20711-14-04 | M14X15 6 4 |155| 85 | 19
20711-14-05 | M14X15 8 5 |155| 85 | 19
20711-14-06 | M14x15 | 10 6 |155| 85 | 19
20711-16-04 | M16X1.5 6 4 |165| 8 | 22
20711-16-05 | M16X1.5 8 5 |165| 8 | 22
Stron< Flex 20711-16-06 | M16X15 | 10 6 16 | 8 | 22
20711-18-06 | M18X15 | 10 6 |175| 10 | 24
20711-20-08 | M20X15 | 12 8 |185| 10 | 27
20711-22-08 | M22x15 | 12 8 |185| 10 | 27
20711-22-10 | X22X15 | 16 10 |195| 10 | 27
20711-27-12 | M27X15 | 20 12 |215| 11 | 32
20711-30-12 | M30X15 | 20 12 | 215 11 | 36
20711-33-14 | M33X2 22 14 |215| 13 | 41
20711-36-16 | M36X2 25 16 23 | 14 | a1
20711-42-20 | M42x2 32 20 26 | 15 | 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20712-xx-xx.

www.strongflex.com

19



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -109 Metric 74° Cone

Metric Female 74° Cone Seat

Swaged Hose Fittings

Number: 20711-T
Ref. GB/T5628

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S2
20711-18-05T | M18X1.5 8 5 16 8 22
20711-20-06T | M20X1.5 10 6 16 10 24
20711-22-06T | M22X1.5 10 6 16 10 27
20711-24-08T | M24X1.5 12 8 165 11 30
20711-27-08T | M27X1.5 12 8 185 ] 11 32
20711-27-10T | M27X1.5 16 10 195 11 32
20711-30-10T | M30X1.5 16 10 185 ] 11 36
20711-33-10T M33X2 16 10 20 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 20 14 41
20711-39-16T M39X2 25 16 235 | 14 46
20711-42-16T M42X2 25 16 2351 15 50
20711-45-20T M45X2 32 20 25 15 55
20711-52-24T M52X2 40 24 25 17 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20712-xx-xxT.

45° Metric Female 74° Cone Seat

Number: 20741
Ref. GB/T5628

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A C H S2
20741-14-04 M14X1.5 6 4 405 | 85 | 185 | 19
20741-16-05 M16X1.5 8 5 44.4 8 20 22
20741-18-06 M18X1.5 10 6 457 | 10 | 214 | 24
20741-22-08 M22X1.5 12 8 58.9 | 10 24 27
20741-27-10 M27X1.5 16 10 712 11 | 264 | 32
20741-30-12 M30X1.5 20 12 78.1 ] 11 30 36
20741-33-12 M33X2 20 12 7741 13 30 41
20741-33-16 M33X2 25 16 85 13 [ 30.8 | 41
20741-36-14 M36X2 22 14 798| 14 | 296 | 41
20741-36-16 M36X2 25 16 85.7| 14 | 315 41
20741-39-16 M39X2 25 16 86.1 | 14 | 318 | 46
20741-45-20 M45X2 32 20 97 15 [ 36.2 | 55
20741-52-24 M52X2 40 24 1129 17 | 409 | 60
20741-52-24T M52X2 38 24 17 60 | 37.7

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 20742-xx-XX.

www.strongflex.com

20



(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -109 Metric 74° Cone

90° Metric Female 74° Cone Seat

Swaged Hose Fittings

Number: 20791
Ref. GB/T5628

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C H S2

20791-12-04C | M12X1.5 6 4 30 9 335 17
20791-12-04 M12X1.5 6 4 30 10 | 335 | 17
20791-14-04 M14X1.5 6 4 30 8.5 34 19
20791-16-04 M16X1.5 6 4 30 8 35 22
20791-16-05 M16X1.5 8 5 34 8 38 22
20791-18-06 M18X1.5 10 6 353 | 10 [ 413 | 24
20791-22-08 M22X1.5 12 8 41 10 48 27
20791-22-10 M22X1.5 16 10 56.5| 10 | 525 | 27
20791-27-10 M27X1.5 16 10 5651 11 54 32
20791-30-12 M30X1.5 20 12 66.2 | 11 | 635 | 36
20791-33-12 M33X2 20 12 655 13 | 635 41
20791-33-16 M33X2 25 16 76.7 | 13 69 41
20791-36-12 M36X2 20 12 655 14 | 635 41
20791-36-14 M36X2 22 14 712 | 14 | 645 | 41
20791-39-16 M39X2 25 16 76.7 | 14 | 705 | 46
20791-45-20 M45X2 32 20 915 | 15 83 55
20791-52-20 M52X2 32 20 93 17 | 845 | 60
20791-52-24 M52X2 40 24 110.7] 17 | 96.5| 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 20792-xx-xx.

Swaged Hose Fittings

1.2 -110 Metric 90° Cone

Metric Male 90° Cone Seat

Number: 10811L
A
—
go"ow -
|

s1
10811L

LOCK NUT

R%—F‘—,

£z

)
10811L-LN

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1 S2
10811L-12-04 | M12X1.5 6 4 46 17 17
10811L-12-04 | M12X1.5 6 4 445 17 17
10811L-14-04 | M14X1.5 6 4 46 17 17
10811L-14-06 | M14X1.5 10 6 46.5 17 17
10811L-16-04 | M16X1.5 6 4 46.5 19 19
10811L-16-06 | M16X1.5 10 6 46.5 22 22
10811L-20-06 | M20X1.5 10 6 57 27 27
10811L-20-08 | M20X1.5 12 8 57.5 27 27
10811L-22-08 | M22X1.5 12 8 62.5 27 27

Note: if you are interested to order the fitting with lock nut,please insert suffix
"LN" after our part no. for example 10811L-12-04LN.

www.strongflex.com

21



qg; StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -111 Metric Standpipe Straight

Metric Standpipe Straight

Number: 50011
Ref. DIN 2353

HOSE BORE DIMENSIONS
PART NO. TUBE O.D.

DN DASH A C NOTE
50011-06-03 6 5 3 285 | 22
50011-06-04 6 6 4 29 22
50011-10-05 10 8 5 31 23
50011-10-06 10 10 6 32 23
50011-12-06 12 10 6 335 23
50011-12-08 12 12 8 33 23
50011-15-06 15 10 6 355 25
50011-15-08 15 12 8 355 | 25 L
50011-18-08 18 12 8 36.5| 26
50011-18-10 18 16 10 41 26
50011-22-10 22 16 10 44 28
50011-22-16 22 25 16 46 28
50011-28-06 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 4 31 24
50011-08-05 8 8 5 33 24
50011-08-06 8 10 6 33 24
50011-10-04 10 6 4 35 26
50011-12-04 12 6 4 345 | 26
50011-12-05 12 8 5 355 | 26
50011-14-06 14 10 6 395 | 29
50011-14-08 14 12 8 40 29
50011-14-12 14 20 12 455 | 29
50011-16-08 16 12 8 41 30 S
50011-16-10 16 16 10 455 | 30
50011-20-10 20 16 10 525 | 36
50011-20-12 20 20 12 525 | 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-10 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 50012-xx-xx.

www.strongflex.com

22



[S]{B StronSFlex

1.2 Hydraulic Hose Fittings

45° Metric Standpipe Straight

Swaged Hose Fittings

1.2 -111 Metric Standpipe Straight

Number: 50041
Ref. DIN 2353

HOSE BORE DIMENSIONS
PART NO. TUBE O.D.
DN DASH A Cc H NOTE

50041-06-03 6 5 3 478 | 22 | 275
50041-06-04 6 6 4 522 | 22 | 30.1
50041-08-05 8 8 5 5571 24 | 324
50041-08-06 8 10 6 579 24 | 331
50041-10-05 10 8 5 54 23 | 30.6
50041-10-06 10 10 6 56.1 | 23 | 313
50041-12-06 12 10 6 585 | 23 | 345
50041-12-08 12 12 8 7241 23 | 374
50041-15-06 15 10 6 593 | 25 | 345 L
50041-15-08 15 12 8 706 | 25 | 35.7
50041-18-08 18 12 8 73.41 26 | 385
50041-18-10 18 16 10 846 | 26 | 39.8
50041-22-10 22 16 10 87.1| 28 | 423
50041-22-12 22 20 12 93.3 | 28 | 459
50041-22-16 22 25 16 100.9] 28 | 46.7
50041-28-16 28 25 16 103.7| 30 | 495
50041-35-20 35 32 20 118.5| 36 | 57.8
50041-08-04 8 6 4 536 | 24 | 315
50041-10-04 10 6 4 54 26 | 31.9
50041-12-04 12 6 4 57.1] 26 | 35.1
50041-12-05 12 8 5 59.2 | 26 | 35.9
50041-14-06 14 10 6 616 | 29 | 373
50041-14-08 14 12 8 73.8 | 29 | 38.8
50041-14-12 14 20 12 919 | 29 | 438
50041-16-08 16 12 8 76.6 | 30 | 417
50041-16-10 16 16 10 87.8 | 30 43 S
50041-20-10 20 16 10 928 | 36 48
50041-20-12 20 20 12 100.7| 36 | 52.6
50041-25-12 25 20 12 101.8| 40 | 54.4
50041-25-16 25 25 16 109.4] 40 | 55.2
50041-30-16 30 25 16 113.6| 44 | 59.4
50041-30-20 30 32 20 1242 44 | 635
50041-38-16 38 25 16 117.9| 50 | 63.6
50041-38-20 38 32 20 128.4] 50 | 67.7

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 50042-xx-xx.

www.strongflex.com

23



[S]{B StronSFlex

1.2 Hydraulic Hose Fittings

90° Metric Standpipe Straight

Swaged Hose Fittings

1.2 -111 Metric Standpipe Straight

Number: 50091
Ref. DIN 2353

SART NO. DTUBE | HOSE BORE DIMENSIONS
ObD. DN | DASH| A | ¢ | H NOTE

50091-06-03 6 5 3 |265]| 22 | 45
50091-06-04 6 6 4 30 [ 22 | 48
50091-08-05 8 8 5 34 | 24 | 555
50091-08-06 8 10 6 |358]| 24 [57.8
50091-10-05 10 8 5 34 | 23 | s3
50091-10-06 10 10 6 |353]| 23 [553
50091-12-06 12 10 6 |353]| 23 [59.8
50091-12-08 12 12 8 41 | 23 | 67
50091-15-06 15 10 6 |[358| 25 | 598 L
50091-15-08 15 12 8 41 | 25 | 65
50091-18-08 18 12 8 41 | 26 |685
50091-18-10 18 16 10 |565| 26 | 73
50091-22-10 22 16 10 |565| 28 | 765
50091-22-12 22 20 12 |655| 28 | 86
50091-22-16 22 25 16 |767| 28 [915
50091-28-16 28 25 16 |76.7| 30 | 955
50091-35-20 35 32 20 |915]| 36 [1125
50091-08-04 8 6 4 30 | 24 | 525
50091-10-04 10 6 4 30 | 26 | 53
50091-12-04 12 6 4 30 | 26 | 575
50091-12-05 12 8 5 33 | 26 | 605
50091-14-06 14 10 6 |353]| 29 [638
50091-14-08 14 12 8 41 | 29 | 69
50091-14-12 14 20 12 |662]| 29 | 83
50091-16-08 16 12 8 42 | 30 | 73
50091-16-10 16 16 10 |[s65(| 30 |775 s
50091-20-10 20 16 10 |565| 36 |845
50091-20-12 20 20 12 |655| 36 [955
50091-25-12 25 20 12 |655| 40 | 98
50091-25-16 25 25 16 |76.7| 40 |1035
50091-30-16 30 25 16 | 78 | 40 |100.5
50091-30-20 30 32 20 | 915]| 44 [1205
50091-38-16 38 25 16 |76.7| 50 |1155
50091-38-20 38 32 20 |915]| 50 [1265

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 50092-xx-xx.

www.strongflex.com

24



(‘9]@ StronZFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -111 Metric Standpipe Straight

Retaining Nut L.T.

Number: NL TUBE DIMENSIONS
Ref. DIN 3870 PARTNO  [THREADE) 5 c s
NL-12 M12X15 | 6 14.5 14
NL-14 M14x15 | 8 14.5 17
NL-16 M16X15 | 10 15.5 19
NL-18 Mi8x15 | 12 15.5 22
» NL-22 M22X15 | 15 17 27
NL-26 M26X1.5 | 18 18 32
NL-30 M30x2 | 22 20 36
NL-36 M36X2 | 28 21 41
NL-45 M45x2 | 35 24 50
NL-52 Ms2x2 | 42 24 60
Retaining Nut H.T.
Number: NS TUBE DIMENSIONS
Ref. DIN 3870 PARTNG —|THREADEL 5 c S
NS-14 M14x15 | 6 16.5 17
NS-16 M16X15 | 8 16.5 19
NS-18 M18X15 [ 10 17.5 22
NS-20 M20X15 | 12 17.5 24
- NS-22 M22X15 | 14 20.5 27
NS-24 M24X15 | 16 20.5 30
NS-30 M3ox2 | 20 24 36
NS-36 M36x2 | 25 27 46
NS-42 mazxz | 30 29 50
Stron g Flex NS-52 Ms2x2 | 38 325 60

www.strongflex.com

25



qg; StronSFlex

1.2 Hydraulic Hose Fittings

BSPT Male

Swaged Hose Fittings

1.2-112 BSPT Male

Number: 13011-SP

StronSFHex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1
13011-02-03SP | R1/8"X28 5 3 22 10 12
13011-02-04SP | R1/8"X28 6 4 225 | 10 12
13011-04-04SP | R1/4"X19 6 4 27 | 145 | 14
13011-04-05SP | R1/4"X19 8 5 25 | 154 | 14
13011-04-06SP | R1/4"X19 10 6 27 | 145 | 17
13011-06-04SP | R3/8"X19 6 4 275 | 15 17
13011-06-05SP | R3/8"X19 8 5 2651 15 17
13011-06-06SP | R3/8"X19 10 6 275 | 15 17
13011-06-08SP | R3/8"X19 12 8 30 15 19
13011-08-06SP | R1/2"X14 10 6 345 | 20 22
13011-08-08SP | R1/2"X14 12 8 35 20 22
13011-08-10SP | R1/2"X14 16 10 38 20 22
13011-08-12SP | R1/2"X14 20 12 38 20 27
13011-12-08SP | R3/4"X14 12 8 37 20 27
13011-12-10SP | R3/4"X14 16 10 38 20 27
13011-12-12SP | R3/4"X14 20 12 385 | 20 27
13011-12-16SP | R3/4"X14 25 16 395 20 32
13011-16-12SP | R1"X11 20 12 44 | 255 | 36
13011-16-16SP | R1"X11 25 16 45 | 255 | 36
13011-20-20SP [R1.1"/4X11| 32 20 495 | 265 | 46
13011-24-24SP [R1.1"/2X11 40 24 5151265 | 50
13011-32-24SP | R2"X11 40 24 57 30 65
13011-32-32SP | R2"X11 50 32 57 30 65

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 13012-xx-xxSP .

1.2 -113 BSP Flat Seal

BSP Male O-Ring Seal

Number: 12211
Ref. BS 5200 - ISO 8434-6

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E O-RING

DN DASH A C S1
12211-04-04 G1/4"X19 6 4 0O111 235 11 19
12211-04-06 G1/4"X19 10 6 o111 235 11 19
12211-06-06 G3/8"X19 10 6 0113 265 | 12 22
12211-08-04 G1/2"X14 6 4 0115 335 | 14 27
12211-08-06 G1/2"X14 10 6 0115 335 | 14 27
12211-08-08 G1/2"X14 12 8 0115 34 14 27
12211-10-10 G5/8"X14 16 10 0910 36 | 155 | 30
12211-12-10 G3/4"X14 16 10 0119 335|155 | 32
12211-12-12 G3/4"X14 20 12 0119 38 | 155 | 32
12211-12-16 G3/4"X14 25 16 0119 36 | 155 | 32
12211-16-16 G1"X11 25 16 0217 445|185 | 41
12211-20-20 |G1.1/4"X11| 32 20 0222 46 20 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 12212-Xx-xx .

www.strongflex.com

26



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -113 BSP Flat Seal

BSP Female Flat Seat

Number: 22211
Ref. BS 5200 - ISO 8434-6

StronSFHex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S2
22211-04-04 G1/4"X19 6 4 15.5 8 19
22211-04-06 G1/4"X19 10 6 155 8 19
22211-06-04 G3/8"X19 6 4 17 9 22
22211-06-05 G3/8"X19 8 5 17 9 22
22211-06-06 G3/8"X19 10 6 16.5 9 22
22211-06-08 G3/8"X19 12 8 17.5 9 22
22211-08-06 G1l/2"X14 10 6 18 | 105 | 27
22211-08-08 G1/2"X14 12 8 185 | 105 | 27
22211-10-08 G5/8"X14 12 8 20 12 30
22211-10-10 G5/8"X14 16 10 21 12 30
22211-12-08 G3/4"X14 12 8 205|135 | 32
22211-12-10 G3/4"X14 16 10 215|135 | 32
22211-12-12 G3/4"X14 20 12 215|135 | 32
22211-16-12 G1"X11 20 12 215|155 | 41
22211-16-16 G1"X11 25 16 23 1155 41
22211-20-20 |G1.1/4"X11| 32 20 26 | 155 | 50
22211-24-24 |G1.1/2"X11| 40 24 2751175 | 55
22211-32-32 G2"X11 50 32 305 23 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22212-xx-xx.

45° BSP Female Flat Seat

Number: 22241

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A Cc H S2
22241-04-04 | G1/4"X19 6 4 40.9 8 18.8 19
22241-06-06 G3/8"X19 10 6 45.3 9 21 22
22241-08-08 Gl/2"X14 12 8 58.9 1105 | 24 27
22241-12-12 G3/4"X14 20 12 7741135 | 30 32
22241-16-16 G1"X11 25 16 82.7 1155|315 41
22241-20-20 |G1.1/4"X11] 32 20 97.3 1155 | 36.6 | 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses,

hose fitting series number is 22242-xx-xx.

90° BSP Female Flat Seat

Number: 22291

StronSFlex

HOSE BORE DIMENSION S
PART NO. THREAD E

DN DASH A C H S2
22291-04-04 | G1/4"X19 6 4 30 8 345 19
22291-06-06 G3/8"X19 10 6 35.3 9 413 | 22
22291-08-08 G1/2"X14 12 8 41 |1 105 | 48 27
22291-12-12 G3/4"X14 20 12 65.5 ]| 135|635 | 32
22291-16-16 G1"X11 25 16 76.7 1155 | 70 41
22291-20-20 |G1.1/4"X11| 32 20 915|155 | 825 | 50
22291-24-24 |G1.1/2"X11| 40 24 109.4| 175 985 | 55

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

IS 22292-XX-XX.

www.strongflex.com

27



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -114 BSP Multiseal

BSP Female Multiseal

Number: 22111 HOSE BORE DIMENSIONS
Ref. BS 5200 - ISO 8434-6 PARTNO. THREADE DN DASH A Cc S2
22111-02-04 G1/8"X28 6 4 19 2 14
22111-04-03 G1/4"X19 5 3 19 4 19
22111-04-04 G1/4"X19 6 4 19.5 4 19
22111-06-05 G3/8"X19 8 5 20 5 22
22111-06-06 G3/8"X19 10 6 20.5 5 22
22111-06-08 G3/8"X19 12 8 21 5 22
22111-08-08 G1/2"X14 12 8 23 6 27
22111-08-10 G1/2"X14 16 10 24 6 27
22111-10-10 G5/8"X14 16 10 25 8 30
22111-10-12 G5/8"X14 20 12 25 8 30
22111-12-10 G3/4"X14 16 10 26 9.5 32
22111-12-12 G3/4"X14 20 12 26 9.5 32
22111-16-14 G1"X11 22 14 265 11 41
22111-16-16 G1"X11 25 16 28 11 41
22111-20-16 |G1.1/4"X11| 25 16 2751 11 50
22111-20-20 |G1.1/4"X11| 32 20 31.5| 10 50
22111-24-24 |G1.1/2"X11| 40 24 37 | 11.5| 55
22111-32-32 G2"X11 50 32 34 15 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22112-xx-xx .

45° BSP Female Multiseal

Number: 22141 HOSE BORE DIMENSIONS

Ref. BS 5200 - ISO 8434-6 PARTNO. | THREAD DN DASH | A C H S2
22141-02-04 G1/8"X28 6 4 43.7 2 216 | 14

22141-04-03 G1/4"X19 5 3 41.3 4 204 | 19

22141-04-04 G1/4"X19 6 4 43.7 4 21.6 19

22141-06-05 G3/8"X19 8 5 46.2 5 229 | 22

slrnn FlBl( 22141-06-06 G3/8"X19 10 6 48.1 5 239 | 22
22141-06-08 G3/8"X19 12 8 60.4 5 254 | 22

22141-08-08 G1/2"X14 12 8 61.8 6 26.8 | 27

22141-08-10 G1/2"X14 16 10 73 6 29 27

22141-10-10 G5/8"X14 16 10 73.7 8 289 | 30

22141-10-12 G5/8"X14 20 12 79.8 8 325 | 30

22141-12-10 G3/4"X14 16 10 704 | 95 | 296 | 32

22141-12-12 G3/4"X14 20 12 80.6 | 95 | 332| 32

22141-16-12 G1"X11 20 12 816 | 11 |335]| 41

22141-16-14 G1"X11 22 14 83.3 | 11 33 41

22141-16-16 G1"X11 25 16 89.2 | 11 35 41

22141-20-16 |G1.1/4"X11 25 16 914 9.1 | 37.1| 50

22141-20-20 |[G1.1/4"X11 32 20 102.9| 10 | 41.2 | 50

22141-24-24 |G1.1/2"X11| 40 24 119.8]| 115 | 49 55

22141-32-32 G2"X11 50 32 137.4| 15 53 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22142-xx-xx.

www.strongflex.com

28



(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -114 BSP Multiseal

90° BSP Female Multiseal

Number: 22191

Ref. BS 5200 - ISO 8434-6

StronCFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2
22191-04-04 | G1/4"X19 6 4 30 4 385 19
22191-06-05 G3/8"X19 8 5 33 5 42 22
22191-06-06 G3/8"X19 10 6 35.5 5 448 | 22
22191-08-08 G1/2"X14 12 8 41 6 52 27
22191-10-10 G5/8"X14 16 10 56.5 8 57.8 | 30
22191-12-12 G3/4"X14 20 12 655 95 68 32
22191-16-14 G1"X11 22 14 712 11 | 695 | 41
22191-16-16 G1"X11 25 16 76.7 | 11 75 41
22191-20-16 |G1.1/4"X11| 25 16 76.7 | 10 78 50
22191-20-20 |G1.1/4"X11] 32 20 923 ]| 10 | 853 | 50
22191-24-24 |G1.1/2"X11| 40 24 109.4| 11.5 | 108 | 55
22191-32-32 G2"X11 50 32 133.1| 15 [123.8| 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22192-xx-xx.

1.2 -115 BSP 60° Cone Seal

BSP Male 60°Cone Seat

Number: 12611

Ref. BS 5200 - ISO 8434-6

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1
12611-02-03 G1/8"X28 5 3 22 10 12
12611-04-04 | G1/4"X19 6 4 245 12 14
12611-06-05 G3/8"X19 8 5 26 | 135 17
12611-06-06 G3/8"X19 10 6 2751135 | 17
12611-06-08 G3/8"X19 12 8 26.5]1135| 19
12611-08-06 G1/2"X14 10 6 305 | 16 22
12611-08-08 G1/2"X14 12 8 31 16 22
12611-10-08 G5/8"X14 12 8 325|175 | 24
12611-10-10 G5/8"X14 16 10 335|175 | 24
12611-12-08 G3/4"X14 12 8 355|185 | 27
12611-12-10 G3/4"X14 16 10 37 | 185 27
12611-12-12 G3/4"X14 20 12 36.5| 185 | 27
12611-16-12 G1"X11 20 12 4051205 | 36
12611-16-16 G1"X11 25 16 4151205 | 36
12611-20-16 [G1.1/4"X11| 25 16 43.5]120.5| 46
12611-20-20 |G1.1/4"X11| 32 20 4451205 | 46
12611-24-20 |G1.1/2"X11| 32 20 49 23 50
12611-24-24 |G1.1/2"X11| 40 24 46 23 50
12611-32-32 G2"X11 50 32 535 255 | 65
12611-32-32 G2"X11 51 32 25.5 65

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 12612-xx-xx

www.strongflex.com

29



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -115 BSP 60° Cone Seal

BSP Male Double USE For 60°Cone Seat OR Bonded Seal

Number: 12611A HOSE BORE DIMENSIONS
Ref. BS 5200 - ISO 8434-6 PARTINO. THREAD E DN DASH A C S1
A 12611A-04-04 | G1/4"X19 6 4 245 | 12 19
C 12611A-04-05 | G1/4"X19 8 5 245 12 19
o % n_ IS 12611A-06-06 | G3/8"X19 8 5 26 | 135 22
60° | mi _[_ ) ) 12611A-06-06 | G3/8"X19 10 6 28 | 135 | 22
12611A-06-08 | G3/8"X19 12 8 285|135 22
12611A-08-06 | G1/2"X14 10 6 33 16 27
S1 12611A-08-08 | G1/2"X14 12 8 335 16 | 27
12611A-08-10 | G1/2"X14 16 10 32 16 27
One Piece Number: 12611A-FB 12611A-10-08 | G5/8"X14 12 8 35 | 175 30
12611A-10-10 | G5/8"X14 16 10 36 | 175 | 30
12611A-12-10 | G3/4"X14 16 10 375|185 | 32
'. 12611A-12-12 | G3/4"X14 20 12 3751185 | 32
12611A-16-12 | G1"X11 20 12 425205 41
' 12611A-16-16 G1"X11 25 16 435|205 | 41
12611A-20-16 |G1.1/4"X11| 25 16 4551205 50
12611A-20-20 |G1.1/4"X11 32 20 46.5 | 20.5 | 50
sn'ﬂll "Bl( 12611A-24-24 |G1.1/2"X11| 40 24 49 | 23 | 55
12611A-32-32 G2"X11 50 32 5451255 ]| 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 12612A-xx-xx

BSP Female 60°Cone

Number: 22611 HOSE BORE DIMENSIONS
Ref. BS 5200 - ISO 8434-6 PARTNO. THREADE DN DASH | A Cc S2
22611-02-03 G1/8"X28 5 3 15 5.5 14
22611-04-03 G1/4"X19 5 3 17 5.5 19
22611-04-04 | G1/4"X19 6 4 18 5.5 19
22611-06-05 G3/8"X19 8 5 19 6.3 22
22611-06-06 G3/8"X19 10 6 195 6.3 22
22611-06-08 G3/8"X19 12 8 195 63 22
22611-08-06 G1/2"X14 10 6 215] 75 27
22611-08-08 G1/2"X14 12 8 2151 75 27
22611-10-10 G5/8"X14 16 10 2351 95 30
One Piece Number: 22611-FB 22611-12-12 G3/4"X14 20 12 24 1109 | 32
g2 22611-16-12 G1"X11 20 12 24 | 117 ) 41
22611-16-16 G1"X11 25 16 27 | 117 ) 41
22611-20-16 |G1.1/4"X11| 25 16 275] 11 50
w - - q- 22611-20-20 |G1.1/4"X11| 32 20 305 11 50
— 22611-24-20 |G1.1/2"X11| 32 20 32 13 55
22611-24-24 |G1.1/2"X11| 40 24 32 13 55
* 22611-32-24 G2"X11 40 24 30 16 70
22611-32-32 G2"X11 50 32 319 | 16 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22612-xx-xx.

www.strongflex.com

30



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -115 BSP 60° Cone Seal

BSP Female 60°Cone Double Hexagon

Number: 22611D
Ref. BS 5200 - ISO 8434-6

One Piece Number: 22611D-FB

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1 S2
22611D-04-04 | G1/4"X19 6 4 235 55 19 19
22611D-06-06 | G3/8"X19 10 6 265 | 6.3 22 22
22611D-08-08 | G1/2"X14 12 8 31 7.5 27 27
22611D-10-08 | G5/8"X14 12 8 32 9.5 30 30
22611D-12-08 | G3/4"X14 12 8 33 | 109 | 32 32
22611D-12-12 | G3/4"X14 20 12 34 | 109 | 32 32
22611D-16-16 G1"X11 25 16 355|117 | 41 41
22611D-20-20 |G1.1/4"X11| 32 20 435 ] 11 50 50
22611D-04-04SM| G1/4"X19 6 4 23 5.5 14 19
22611D-06-06SM| G3/8"X19 10 6 25 6.3 17 22
22611D-08-08SM| G1/2"X14 12 8 285 75 22 27
22611D-10-08SM| G5/8"X14 12 8 30 9.5 22 30
22611D-12-08SM| G3/4"X14 12 8 32.1 1109 | 27 32
22611D-12-12SM| G3/4"X14 20 12 3251109 | 27 32
22611D-16-16SM| G1"X11 25 16 36.3 | 11.7 | 32 41
22611D-20-20SM|G1.1/4"X11| 32 20 415 11 41 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22612D-XX-XX.

45°BSP Female 60°Cone

Number: 22641
Ref. BS 5200 - ISO 8434-6

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2
22641-04-04 | G1/4"X19 6 4 423 | 55 [ 202 19
22641-06-04 | G3/8"X19 6 4 43.2 | 6.3 21 22
22641-06-05 G3/8"X19 8 5 453 ] 6.3 22 22
22641-06-06 G3/8"X19 10 6 469 | 6.3 | 226 | 22
22641-08-06 Gl/2"X14 10 6 481 | 75 | 239 | 27
22641-08-08 G1/2"X14 12 8 61.1]| 75 | 261 | 27
22641-10-08 G5/8"X14 12 8 6141 95 | 265 | 30
22641-10-10 | G5/8"X14 16 10 726 | 95 | 278 | 30
22641-12-08 G3/4"X14 12 8 61.8 1109|269 | 32
22641-12-10 G3/4"X14 16 10 73 1109282 | 32
22641-12-12 G3/4"X14 20 12 79.2 1109 | 318 | 32
22641-16-12 G1"X11 20 12 80.8 | 11.7 | 334 | 41
22641-16-16 G1"X11 25 16 88.4 1117|342 | 41
22641-20-16 |G1.1/4"X11] 25 16 853 | 11 | 311 | 50
22641-20-20 |[G1.1/4"X11| 32 20 98.8 | 11 38 50
22641-24-24 |G1.1/2"X11| 40 24 116.8| 13 | 455 | 55
22641-32-32 G2"X11 50 32 135.7| 16 | 52.7 | 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22642-xx-xx.

www.strongflex.com

31



(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -115 BSP 60° Cone Seal

90° BSP Female 60°Cone

Number: 22691
Ref. BS 5200 - ISO 8434-6

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2
22691-02-03 G1/8"X28 5 3 265 | 55 | 315 14
22691-02-04 | G1/8"X28 6 4 30 55 |345| 14
22691-04-03 G1/4"X19 5 3 26.5]| 55 | 335 19
22691-04-04 | G1/4"X19 6 4 30 55 1365 19
22691-06-04 | G3/8"X19 6 4 30 6.3 | 37.7 | 22
22691-06-05 G3/8"X19 8 5 33 6.3 | 40.7 | 22
22691-06-06 G3/8"X19 10 6 353 ] 6.3 43 22
22691-08-06 G1/2"X14 10 6 35.3 7 433 | 27
22691-08-08 G1l/2"X14 12 8 41 7.5 51 27
22691-08-10 | G1/2"X14 16 10 56.5| 7.5 | 555 | 27
22691-10-08 | G5/8"X14 12 8 41 95 | 515 | 30
22691-10-10 G5/8"X14 16 10 56.5 | 95 56 30
22691-12-08 G3/4"X14 12 8 41 1109 | 521 | 32
22691-12-10 G3/4"X14 16 10 56.5 ] 109 | 56.6 | 32
22691-12-12 G3/4"X14 20 12 65.5 1109 | 66 32
22691-16-12 G1"X11 20 12 655|117 683 | 41
22691-16-14 G1"X11 22 14 71.2 1 11.7 |1 69.3 | 41
22691-16-16 G1"X11 25 16 76.7 | 11.7 | 73.8 | 41
22691-20-16 [G1.1/4"X11| 25 16 78 11 [ 695 | 50
22691-20-20 |G1.1/4"X11| 32 20 91.5]| 11 | 843 | 50
22691-24-24 |G1.1/2"X11| 40 24 109.4| 13 | 103 | 55
22691-32-32 G2"X11 50 32 131.8| 16 [123.3| 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 22692-xx-xx.

www.strongflex.com

32



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -116 American NPT

NPT Male

Number: 15611
Ref. SAE J514

StronSFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1
15611-02-03 Z1/8"X27 5 3 2251105 | 12
15611-04-03 Z1/4"X18 5 3 275 | 15 17
15611-04-04 Z1/4"X18 6 4 28 15 17
15611-04-05 Z1/4"X18 8 5 28 15 17
15611-06-04 Z3/8"X18 6 4 28 16 19
15611-06-05 Z3/8"X18 8 5 28 16 19
15611-06-06 Z3/8"X18 10 6 30 16 19
15611-06-08 Z3/8"X18 12 8 305 | 16 19
15611-08-06 Z1/2"X14 10 6 3451195 | 22
15611-08-08 Z1/2"X14 12 8 345|195 | 22
15611-12-08 Z3/8"X14 12 8 3751195 27
15611-12-10 Z3/4"X14 16 10 38 | 195 | 27
15611-12-12 Z3/4"X14 20 12 385|195 | 27
15611-12-16 Z3/4"X14 25 16 395|195 | 32
15611-16-10 Z1"X11.5 16 10 45 [ 255 | 36
15611-16-12 Z1"X11.5 20 12 45 [ 255 | 36
15611-16-16 Z1"X11.5 25 16 445 | 255 | 36
15611-20-16 |Z1.1/4"X115| 25 16 495|265 | 46
15611-20-20 |Z1.1/4"X115] 32 20 49 | 265 | 46
15611-24-24 |71.1/2"X11.5| 40 24 51 | 275 )] 50
15611-32-32 Z2"X11.5 50 32 55 | 275 | 65

Note: 1.For use with braided hoses. 2. If use with spiral hoses,

hose fitting series number is 15612-xx-xx.

NPT Swivel Male

E \S2

Number: 15611SW HOSE BORE DIMENSIONS
PARTNO. |THREAD E
A DN | DAsH| A | s2
i 15611SW-04-04 | z1/4'X18 | 6 4 | s6 | 19
% 15611SW-06-06 [ z3/8"X18 | 10 6 |60 | 22
| 15611SW-08-08 | z1/2'x14 | 12 8 |66 | 27
| | 15611SW-12-12| Z3/4'X14 [ 20 12 |684]| 32

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 15612SW -Xx-XX.

90° NPT Swivel Male

Number: 15691KSW

31—”‘11

HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A H S1 S2
15691KSW-04-04| Z1/4"X18 6 4 25 | 595 | 16 19
15691KSW-06-06| Z3/8"X18 10 6 25 | 645| 16 22
15691KSW-08-08| Z1/2"X14 12 8 285|715 19 27
15691KSW-12-12| Z3/4"X14 20 12 36 | 769 | 27 32

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 15612KSW -XX-XX.

www.strongflex.com

33



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -117 SAE O-Ring Seal

SAE O-Ring Male Seal

Number: 16011

Ref. SAE J1926 - ISO 11926

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1
16011-04-04 7/16"X20 6 4 2151 91 14
16011-05-04 1/2"X20 6 4 215 91 17
16011-06-05 9/16"X18 8 5 2251 9.9 17
16011-06-06 9/16"X18 10 6 225 9.9 17
16011-08-06 3/4"X16 10 6 2451111 | 22
16011-08-08 3/4"X16 12 8 25 | 111 | 22
16011-10-08 7/8"X14 12 8 295 | 12.7 | 27
16011-10-10 7/8"X14 16 10 305 | 12.7 | 27
16011-12-10 |[1.1/16"X12 16 10 34 | 151 32
16011-12-12 | 1.1/16"X12 20 12 34 | 151 | 32
16011-16-16 |1.5/16"X12 25 16 36 | 151 38

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 16012-XxX-xx.

SAE O-Ring Boss Swivel Male

Number: 16011SW

A

Ref. SAE J1926 - ISO 11926

| O
e

HOSE BORE DIMENSIONS
PART NO. THREAD E O RING

DN DASH A S2
16011SW-08-06  3/4"X16 10 6 0908 575 | 27
16011SW-08-08 | 3/4"X16 12 8 0908 58 27
16011SW-10-08| 7/8"X14 12 8 0910 595 | 27
16011SW-10-10| 7/8"X14 16 10 0910 60.1 | 27
16011SW-12-10(1.1/16"X12 16 10 0912 64.9 | 32
16011SW-12-12|1.1/16"X12 20 12 0912 64.9 | 32

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 16012SW -xx-XX.

90°SAE O-Ring Boss Swivel Male

Number: 16091KSW

A

Ref. SAE J1926 - ISO 11926

S1

S2

HOSE BORE DIMENSIONS
PART NO. THREAD E O RING
DN DASH A H S1 S2
16091KSW-08-06| 3/4"X16 10 6 0908 285|635 | 19 27
16091KSW-08-08| 3/4"X16 12 8 0908 2851635 ]| 19 27
16091KSW-10-08| 7/8"X14 12 8 0910 285 | 65 19 27
16091KSW-10-10| 7/8"X14 16 10 0910 305 | 65 22 27

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 16092KSW -XX-XX .

www.strongflex.com

34



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -118 American ORFS

ORFS Male O-Ring Seal

Number: 14211 HOSE BORE DIMENSIONS
Ref. SAE J1453 - ISO 8434-3 PARTNG. TR Toasn | T [a [ ¢ [ =t
A 14211-04-04 | 9/16"X18 | 6 4 0011 [ 223 98 | 17
14211-06-04 | 11/16"X16 | 6 4 0012 24 | 112 19
§ %,m_r _ 14211-06-06 | 11/16"X16 | 10 6 0012 24 | 112 19
wld i i 14211-08-06 | 13/16"X16 | 10 6 0014 |[275| 128 22
14211-08-08 | 13/16"X16 | 12 8 0014 | 285|128 22
' || 14211-08-10 | 13/16"X16 | 16 10 0014 |[285| 128 22
B S1 142111008 | 1'X14 12 8 0016 [ 325|155 | 27
14211-10-10 | 1'X14 16 10 0016 34 | 155| 27
One Piece Number: 14211-FB 14211-12-08 [1.3/16"X12| 12 8 0018 |[355| 17 | 32
14211-12-10 |1.3/16"X12| 16 10 0018 [365| 17 | 32
14211-12-12 | 1.3/16"X12| 20 12 0018 |[365| 17 | 32
14211-16-12 |1.7/16"X12| 20 12 0021 37 | 175 38
14211-16-16 |1.7/16"X12| 25 16 0021 |[385|175| 38
142112020 [1.11/16"X12| 32 20 0025 |415]|175| 46
A 142112424 | 2'X12 40 24 0029 |[435|175]| 55

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 14212-xx-xx.

ORFS Female Flat Seat

Number: 24211 HOSE BORE DIMENSIONS
Ref. SAE J516 - ISO 12151-1 PARTINO. TR B T oasn | A [ ¢ | 52
C . A 24211-04-04 9/16"X18 6 4 2251 85 19
24211-04-05 9/16"X18 8 5 225 | 85 19
24211-04-06 9/16"X18 10 6 2251 85 19
L 24211-06-06 11/16"X16 10 6 23.5 10 22
||. _E_U_I_ ﬂ Hﬂ ! __I 24211-06-08 | 11/16"X16 12 8 26 10 22
24211-08-08 13/16"X16 12 8 28 11 27
\—*E 24211-08-10 | 13/16"X16 16 10 29 11 27
21211-10-10 1"X14 16 10 335|135 | 30
24211-10-12 1"X14 20 12 3351135 ] 30
24211-12-12 | 1.3/16"X12 20 12 35 15 36
24211-12-16 |1.3/16"X12 25 16 36 15 36
24211-16-20 |1.7/16"X12 32 20 395|148 | 41
24211-20-20 |1.11/16"X12| 32 20 3951 15 50
24211-20-24 |1.11/16"X12 40 24 39.5 15 50
; A 24211-24-20 2"X12 32 20 36 | 148 | 60
24211-24-24 2"X12 40 24 36 14.8 | 60
SII'[III Heu il\slogz:zé._i:_rxise with braided hoses. 2. If use with spiral hoses, hose fitting series number

www.strongflex.com 35



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -118 American ORFS

ORFS Female Flat Seat

Number: 24211-T
Ref. SAE J516 - ISO 12151-1

C_A

StronCFlex

HOSE BORE DIMENSIO NS
PART NO. THREAD E

DN DASH A C S2
24211-06-04T | 11/16"X16 6 4 2351 10 22
24211-06-05T | 11/16"X16 8 5 235 | 10 22
24211-08-05T | 13/16"X16 8 5 25 11 27
24211-08-06T | 13/16"X16 10 6 25 11 27
24211-10-08T 1"X14 12 8 2951135 ] 30
24211-12-08T |1.3/16"X12 12 8 305 | 15 36
24211-12-10T |1.3/16"X12 16 10 315 15 36
24211-16-12T | 1.7/16"X12 20 12 35 | 148 | 41
24211-16-14T |1.7/16"X12 22 14 34 | 148 | 41
24211-16-16T | 1.7/16"X12 25 16 35 | 148 | 41
24211-20-16T |1.11/16"X12| 25 16 35 15 50
24211-24-20T 2"X12 32 20 36 | 148 | 60
24211-24-24T 2"X12 40 24 36 | 148 | 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 24212-xx-xxT.

45° ORFS Female Flat Seat

Number: 24241
Ref. SAE J516 - ISO 12151-1

A

One Piece Number: 24241-FB

8

&

82

Stron2Flex

HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH Cc S H

24241-04-04 9/16"X18 6 4 8.5 19 | 234
24241-06-06 | 11/16"X16 10 6 10 22 | 27.4
24241-08-08 | 13/16"X16 12 8 11 27 | 30.4
24241-10-10 1"X14 16 10 13 30 | 34.9
24241-12-12 | 1.3/16"X12 20 12 15 36 | 39.5
24241-20-20 [1.11/16"X12| 32 20 15 50 | 46.1
24241-16-16 | 1.7/16"X12 25 16 14.8 | 41 | 29.7
24241-24-24 2"X12 38 24 148 60 | 37.7
24241-04-04FB | 9/16"X18 6 4 8.5 19 | 234
24241-06-06FB | 11/16"X16 10 6 10 22 | 27.4
24241-08-08FB | 13/16"X16 12 8 11 27 | 30.4
[ 24241-10-10FB 1"X14 16 10 13 30 | 34.9
24241-12-12FB | 1.3/16"X12 20 12 15 36 | 39.5
24241-20-20FB [1.11/16"X12| 32 20 15 50 | 46.1
24241-16-16FB | 1.7/16"X12 25 16 14.8 | 41 | 29.7
24241-24-24FB 2"X12 38 24 148 60 | 37.7

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 24242-xx-XX.

www.strongflex.com

36



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -118 American ORFS

90° ORFS Female Flat Seat

Number: 24291

One Piece Number: 24291-FB

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A H C S2
24291-04-04 9/16"X18 6 4 30 41 8.5 19
24291-04-05 9/16"X18 8 5 33 44 8.5 19
24291-04-06 9/16"X18 10 6 35.3 1463 | 85 19
24291-06-06 | 11/16"X16 10 6 3531498 | 10 22
24291-06-08 | 11/16"X16 12 8 41 55 10 22
24291-08-08 | 13/16"X16 12 8 41 57 11 27
24291-08-10 | 13/16"X16 16 10 56.5 615 | 11 27
24291-10-10 1"X14 16 10 56.5| 66 | 13.5| 30
24291-10-12 1"X14 20 12 65.5]| 755|135 | 30
24291-12-12 | 1.3/16"X12 20 12 65.5 | 77 15 36
24291-12-16 | 1.3/16"X12 25 16 76.7 | 83.5| 15 36
24291-16-20 | 1.7/16"X12 32 20 915]| 96 | 148 | 41
24291-20-20 [1.11/16"X12| 32 20 93 | 100 | 15 50
24291-20-24 [1.11/16'X12| 40 24 109.41113.5| 15 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

is 2429 2-XX-XX.

90° ORFS Female Flat Seat

Number: 24291-T
Ref. SAE J516 - ISO 12151-1

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A H C S2
24291-06-05T | 11/16"X16 8 5 33 |375] 10 22
24291-08-06T | 13/16"X16 10 6 353398 | 11 27
24291-10-08T 1"X14 12 8 41 46 | 135 30
24291-12-10T |1.3/16"X12 16 10 56.5|51.5| 15 36
24291-16-12T | 1.7/16"X12 20 12 65.5]| 63 | 148 | 41
24291-16-14T | 1.7/16"X12 22 14 712 | 63 | 148 | 41
24291-16-16T | 1.7/16"X12 25 16 769 | 675|148 | 41
24291-20-16T [1.11/16"X12| 25 16 76.7 | 675 | 15 50
24291-24-20T 2"X12 32 20 915|785 | 148 | 60
24291-24-24T 2"X12 40 24 109.4| 92 | 148 | 60

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 24292 -xx-xxT.

www.strongflex.com

37



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Swaged Hose Fittings

1.2 -119 American NPSM 60°

NPSM Female 60°Cone

Number: 21611 HOSE BORE DIMENSIONS

Ref. SAE J514 PARTNO. | THREADE DN | pasH| A | B | s2
21611-04-04 1/4"X18 6 4 22 | 46 | 19
21611-06-04 3/8"X18 6 4 23 6 22
21611-06-05 3/8"X18 8 5 23 6 22
21611-06-06 3/8"X18 10 6 23 6 22
21611-08-08 1/2"X14 12 8 235 75 | 27
21611-12-10 3/4"X14 16 10 27 | 89 | 32
21611-12-12 3/4"X14 20 12 27 | 89 | 32
21611-16-12 1"X11.5 20 12 25 | 105 41
21611-16-16 1"X11.5 25 16 285|105 | 41
21611-20-20 [1.1/4"X11.5| 32 20 295|112 50

Note: 1.For use with braided hoses. 2. If | _21611-24-20 |1.1/2'X11.5) 32 20 295 [112] 55

use with spiral hoses, hose fitting series 21611-24-24 |1.1/2"X11.5[ 40 24 315|112 | 55

number is21612-xx-xx. 21611-32-32 | 2'X1L5 | 50 32 | 31 [112] 70

45° NPSM Female 60°Cone

Number: 21641 HOSE BORE DIMENSIONS

Ref. SAE J514 PARTNO. | THREADE DN [ DAsH| A | B | H | s2
21641-04-04 1/4"X18 6 4 451 ] 46 | 23 | 19
21641-06-06 3/8"X18 10 6 472 6 [249]| 22
21641-08-08 1/2"X14 12 8 627 | 75 | 27.7 | 27
21641-12-12 3/4"X14 20 12 814 89 | 34 | 32
21641-16-16 1"X11.5 25 16 89.2(105| 35 | 41
21641-20-20 [1.1/4"X11.5| 32 20 99.8 | 11.2 | 39.3 | 50
21641-24-24 [1.1/2"X11.5| 40 24 |115.1| 11.2 | 444 | 55
21641-32-32 2"X11.5 50 32 |[136.4] 11.2|63.4| 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 21642-xx-xx.

90° NPSM Female 60°Cone

Number: 21691 HOSE BORE DIMENSIONS
Ref. SAE J514 PARTNO.  |THREAD & DN [ DAasH| A | B | H | s2
21691-04-04 | 1/4"X18 6 4 30 | 45 | 405 19
21691-06-04 | 3/8"X18 6 4 30 | 6 |37.7] 22
21691-06-05 | 3/8"X18 8 5 34 | 6 |407]| 22
21691-06-06 | 3/8"X18 10 6 |353| 6 |453]| 22
T 21691-08-08 | 1/2'X14 12 8 41 | 75 | 532 27
21691-12-10 | 3/4"X14 16 10 |[s65| 89 [535] 32
21691-12-12 | 3/4'X14 | 20 12 |e655]| 89 [69.1] 32
o L 21691-16-12 | 1"X115 [ 20 12 | 655|105 645]| 41
E 21691-16-16 | 1'X115 | 25 16 |767|105| 75 | ;1
60° 21601-20-20 |[1.1/4"X115[ 32 20 |o15[112] 86 | 50
Note: 1.For use with braided hoses. 2. If 21691-24-20 1.1/2"X11.5 32 20 915[11.2] 835 55
use with spiral hoses, hose fitting series 21691-24-24 |1.1/2"X11.5| 40 24 |109.4| 11.2 |101.5( 55
number is 21692-xx-Xx. 21691-32-32 | 2"X11.5 50 32 |131.8] 11.2 [124.5] 70

www.strongflex.com

38



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -120 American JIC 74°

JIC Male 74°Cone

Number: 16711 HOSE BORE DIMENSIONS
Ref. SAE J514 - ISO 8434-2 PARTNO. THREADE DN DASH A Cc S1
16711-04-03 7/16"X20 5 3 26 14 12
C A 16711-04-04 7/16"X20 6 4 26.5| 14 12
m 16711-05-04 1/2"X20 6 4 265 | 14 14
74o© w - - ”"- 16711-05-05 1/2"X20 8 5 26.5| 14 14
| 16711-05-06 1/2"X20 10 6 265 | 14 17
St 16711-06-04 9/16"X18 6 4 265|141 | 17
16711-06-05 9/16"X18 8 5 265|141 | 17
16711-06-06 9/16"X18 10 6 265|141 | 17
16711-08-06 3/4"X16 10 6 31.5]16.7 | 22
One Piece Number: 16711-FB 16711-08-08 3/4"X16 12 8 32 | 16.7 | 22
16711-10-06 7/8"X14 10 6 32 | 193] 24
16711-10-08 7/8"X14 12 8 3431193 | 24

16711-10-10 7/8"X14 16 10 3551193 | 24
16711-12-08 |1.1/16"X12 12 8 39 | 219 27
16711-12-10 |1.1/16"X12 16 10 40 | 219 | 27
16711-12-12 | 1.1/16"X12 20 12 40 | 219 | 27
16711-12-16 |1.1/16"X12 25 16 41 1219 30
16711-14-10 |1.3/16"X12 16 10 415|226 | 32
16711-14-12 | 1.3/16"X12 20 12 406 | 226 | 32
16711-16-12 |1.5/16"X12 20 12 4251231 | 36
16711-16-16 |1.5/16"X12 25 16 4351231 | 36
16711-20-16 | 1.5/8"X12 25 16 46.5 | 243 | 46
16711-20-20 | 1.5/8"X12 32 20 475|243 | 46
16711-24-20 | 1.7/8"X12 32 20 53 | 275] 50
16711-24-24 | 1.7/8"X12 40 24 53 | 275] 50
16711-32-32 | 2.1/2"X12 50 32 62 | 339 )| 65

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 16712-xx-xx.

www.strongflex.com



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -120 American JIC 74°

JIC Female 74°Cone Seat

Number: 26711 HOSE BORE DIMENSIONS
Ref. SAE J514 - ISO 8434-2 PARTNO. THREAD & DN DASH A © S2
A 26711-04-03 | 7/16"x20 | 5 3 |15] o | 15
G 26711-04-04 | 7/16"x20 | 6 4 15 | 9 | 15
26711-05-04 | 1/2"X20 6 4 |155] 95| 17
. 26711-05-05 | 1/2"X20 8 5 [155( o5 | 17
74| " J_ﬂ”—l_ | [ 267120506 | 1220 | 10 6 |155]| 95| 17
26711-06-04 | 9/16"x18 | 6 4 |[155]105]( 19
S2 26711-06-05 | 9/16"X18 | 8 5 |[155]105]( 19
26711-06-06 | 9/16"X18 | 10 6 |155(105] 19
26711-06-08 | 9/16"X18 | 12 8 16 | 105/ 19
One Piece Number: 16711-FB 26711-08-06 | 3/4X16 | 10 6 |175] 11 | 24
26711-08-08 | 3/4"X16 | 12 8 18 | 11 | 24

N 26711-08-10 3/4"X16 16 10 195 11 24
26711-10-08 7/8"X14 12 8 185 13 27

26711-10-10 7/8"X14 16 10 20 13 27

26711-10-12 7/8"X14 20 12 20 13 27

26711-12-08 |1.1/16"X12 12 8 19 15 32

26711-12-10 |1.1/16"X12 16 10 215] 15 32

26711-12-12 | 1.1/16"X12 20 12 21.5] 15 32

26711-12-16 |1.1/16"X12 25 16 23 15 32

str“n Flan 26711-14-12 |1.1/16"X12 20 12 215 15 36
26711-16-12 |1.5/16"X12 20 12 185 | 16 41

26711-16-16 |1.5/16"X12 25 16 23 16 41

26711-16-20 |1.5/16"X12 32 20 24 16 41

26711-20-16 | 1.5/8"X12 25 16 23 17 50

26711-20-20 | 1.5/8"X12 32 20 26 17 50

26711-24-20 | 1.7/8"X12 32 20 26.5| 20 55

26711-24-24 | 1.7/8"X12 40 24 265 ] 20 55

26711-32-24 | 2.1/2"X12 40 24 27 | 235 75

26711-32-32 | 2.1/2"X12 50 32 27 | 235 75

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 26712-XX-xx.

www.strongflex.com



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -120 American JIC 74°

JIC Female 74°Cone Seat Double Hexagon

Number: 26711D HOSE BORE DIMENSIONS
Ref. SAE J514 - ISO 8434-2 PARTNO.  |THREAD & DN DASH | A C S1 | s2
A 26711D-04-04 | 7/16"X20 6 4 20 9 15 15
R 26711D-05-04 1/2"X20 6 4 205 95 17 17
N - 26711D-06-04 | 9/16"X18 6 4 21 | 105 19 19
'I. 41 J_J.J_.]_l:._.--lr 26711D-06-06 | 9/16"X18 10 6 21 | 105| 19 19
= i | B2 26711D-08-06 | 3/4"X16 10 6 25 11 | 24 | 24
[".""_‘Js.l 26711D-08-08 3/4"X16 12 8 2451 11 24 24
26711D-08-10 | 3/4"X16 16 10 255 11 | 24 | 24
One Piece Number: 26711D-FB 26711D-10-08 7/8"X14 12 8 28 13 27 27
26711D-10-10 | 7/8"X14 16 10 29 13 | 27 27
26711D-12-12 |1.1/16"X12 20 12 315 15 32 32
26711D-16-12 |1.5/16"X12| 20 12 335 16 | 41 | 41
26711D-16-16 |1.5/16"X12 25 16 3451 16 41 41
26711D-16-20 |1.5/16"X12| 32 20 365 16 | 41 | 41
26711D-20-20 |1.7/16"X12 32 20 39 17 50 50
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting
series number is 26712D -XX-XX.

JIC Female 74°Cone Seat Double Hexagon

Number: 26711D-SM HOSE BORE DIMENSIONS
Ref. SAE J514 - ISO 8434-2 PARTNO. | THREADE DN | pDAasH| A | ¢ | s1 | s2
26711D-04-04SM| 7/16"X20 | 6 4 20| 9 | 12| 15
26711D-05-04SM| 1/2"X20 6 4 205 | 95 12 17
26711D-06-04SM| 9/16"X18 | 6 4 21 |105]| 14 | 19
26711D-06-06SM| 9/16"X18 10 6 21 10.5 17 19
26711D-08-06SM| 3/4"X16 | 10 6 23 | 11 | 19 | 24
26711D-08-08SM| 3/4"X16 12 8 24.5 11 22 24
26711D-08-10SM| 3/4"X16 | 16 10 |[255| 11 | 22 | 24
26711D-10-08SM| 7/8"X14 12 8 24 13 22 27
26711D-10-10sM| 7/8"X14 | 16 10 |27 | 13| 22| 27
26711D-12-12SM| 1.1/16"X12 20 12 315 15 27 32
26711D-16-12SM| 1.5/16"X12| 20 12 |[315| 16 | 32 | ;1
26711D-16-16SM| 1.5/16"X12 25 16 325 16 32 41
26711D-20-20SM| 1.7/16"X12| 32 20 |37 | 17| 41| 50

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 26712D -xx-xxSM.

www.strongflex.com



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -120 American JIC 74°

45°JIC Female 74°Cone Seat

Number: 26741 HOSE BORE DIMENSIONS

Ref. SAE J514 - ISO 8434-2 PARTNO. THREADE DN DASH | A Cc H S2
26741-04-03 7/16"X20 5 3 37.6 9 17.2 | 15
26741-04-04 7/16"X20 6 4 40.2 9 181 15
26741-05-04 1/2"X20 6 4 405 95 | 185 | 17
26741-05-05 1/2"X20 8 5 42.71 95 | 193 | 17
26741-05-06 1/2"X20 10 6 446 | 95 | 203 | 17
26741-06-04 9/16"X18 6 4 405105 | 185 | 19
26741-06-05 9/16"X18 8 5 42.7 1105 | 193 | 19
26741-06-06 9/16"X18 10 6 4431105 | 20 19
26741-06-08 9/16"X18 12 8 56.8 1 10.5 | 21.9 | 19

One Piece Number: 26741-FB 26741-08-06 3/4"X16 10 6 457 | 11 | 214 | 24
26741-08-08 3/4"X16 12 8 586 | 11 | 235 24
26741-10-08 7/8"X14 12 8 58.9 | 13 24 27

26741-10-10 7/8"X14 16 10 70.1 | 13 | 253 | 27
26741-10-12 7/8"X14 20 12 7 13 [ 289 | 27
26741-12-08 |1.1/16"X12 12 8 60 15 25 32
26741-12-10 |1.1/16"X12 16 10 712 15 | 264 | 32
26741-12-12 |1.1/16"X12 20 12 7741 15 30 32
26741-12-16 |1.1/16"X12 25 16 853 | 15 31 32
26741-14-12 | 1.3/16"X12 20 12 7741 15 30 36
26741-16-12 |1.5/16"X12 20 12 77.4 ] 16 30 41
26741-16-16 |1.5/16"X12 25 16 85.7 ]| 16 | 315 41
26741-16-20 |1.5/16"X12 32 20 96.3 | 16 | 355 | 41
26741-20-20 | 1.5/8"X12 32 20 96.6 | 17 | 359 | 50
26741-24-20 | 1.7/8"X12 32 20 100.8| 20 [ 40.1 | 55
26741-24-24 | 1.7/8"X12 40 24 114.8| 20 | 441 | 55
26741-32-32 | 21.1/2"X12 50 32 13591 235|516 | 75

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 26742-xx-xx .

www.strongflex.com



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -120 American JIC 74°

90°JIC Female 74°Cone Seat

Swaged Hose Fittings

Number: 26791
Ref. SAE J514 - ISO 8434-2

P
o
f
L
O~ [}s2
LE
74°

One Piece Number: 26791-FB

stronCFlex

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2
26791-04-03 7/16"X20 5 3 26.5 9 305 15
26791-04-04 7/16"X20 6 4 30 9 335 ]| 15
26791-05-04 1/2"X20 6 4 30 9.5 34 17
26791-05-05 1/2"X20 8 5 33 9.5 37 17
26791-05-06 1/2"X20 10 6 353 95 | 393 17
26791-06-04 9/16"X18 6 4 30 | 105 | 34 19
26791-06-05 9/16"X18 8 5 33 | 105 37 19
26791-06-06 9/16"X18 10 6 353105393 | 19
26791-06-08 9/16"X18 12 8 41 | 105|455 | 19
26791-08-06 3/4"X16 10 6 353 | 11 | 413 | 24
26791-08-08 3/4"X16 12 8 41 11 47 24
26791-08-10 3/4"X16 16 10 56.5| 11 | 515 24
26791-10-08 7/8"X14 12 8 41 13 48 27
26791-10-10 7/8"X14 16 10 56.5| 13 | 525 | 27
26791-10-12 7/8"X14 20 12 67 13 64 27
26791-12-08 |1.1/16"X12 12 8 41 15 [ 495 32
26791-12-10 |1.1/16"X12 16 10 56.5 | 15 54 32
26791-12-12 |1.1/16"X12 20 12 655]| 15 | 635 | 32
26791-12-16 |1.1/16"X12 25 16 76.7 | 15 70 32
26791-14-12 |1.3/16"X12 20 12 655]| 15 | 635 | 36
26791-16-12 |1.5/16"X12 20 12 65.5| 16 | 635 | 41
26791-16-16 |1.5/16"X12 25 16 76.7 | 16 70 41
26791-16-20 |1.5/16"X12 32 20 915 16 81 41
26791-20-20 | 1.5/8"X12 32 20 91.5| 17 | 80.5| 50
26791-24-20 | 1.7/8"X12 32 20 915] 20 | 795 | 55
26791-24-24 | 1.7/8"X12 40 24 109.4| 20 94 55
26791-32-32 | 2.1/2"X12 50 32 133.1| 235 [121.8| 75

Note: 1.For use with braided hoses. 2. If use with spiral hoses,

hose fitting series number is 26792-xx-xx.

90°JIC Compact Female 74°Cone Seat

Number: 26791K
Ref. SAE J514 - ISO 8434-2

A
1

SN —

N

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A C H S1 S2
26791K-04-04 | 7/16"X20 6 4 175 9 18 11 15
26791K-06-04 | 9/16"X18 6 4 19 (105 21 14 19
26791K-06-06 | 9/16"X18 10 6 20 |105) 21 16 19
26791K-08-06 3/4"X16 10 6 23 11 25 19 24
26791K-08-08 3/4"X16 11 8 235 11 25 22 24
26791K-10-08 7/8"X14 12 8 235 13 | 275 | 22 27
26791K-10-10 7/8"X14 16 10 25 13 | 275 ] 22 27
26791K-12-12 |1.1/16"X12 20 12 275 15 30 27 32
26791K-16-16 |1.5/16"X12 25 16 43 16 | 343 ] 33 41

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 26792K-xx-xx.

www.strongflex.com

43



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -121 American SAE 90°

SAE Male 90°Cone

Swaged Hose Fittings

Number: 17811 HOSE BORE DIMENSIONS
Ref. SAE J513 PARTINO. | THREADE DN [ pbAasH| A | ¢ | s1
A 17811-04-04 | 7/16"X20 6 4 |255|127| 12
c 17811-05-05 | 1/2"X20 8 5 27 | 142 14
%L 17811-06-06 | 5/8"X18 10 6 |285]|157| 17
90”0'-“ i : 17811-08-08 | 3/4"X18 12 8 34 | 19 | 22
1 17811-10-10 | 7/8"X16 16 10 |385|224| 24
S1 17811-12-12 |1.1/16"X12| 20 12 | 435|254 30

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 17812-xx-xx.

SAE Female 90°Cone

Number: 27811
Ref. SAE J513

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc S2
27811-04-04 7/16"X20 6 4 15 9 15
27811-05-05 1/2"X20 8 5 155 9.5 17
27811-06-06 5/8"X18 10 6 17 | 113 | 22
27811-08-08 3/4"X18 12 8 18 11 24
27811-10-10 7/8"X16 16 10 20 13 27
27811-12-12 | 1.1/16"X12 20 12 2151143 | 32

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 27812-xx-xx.

45° SAE Female 90°Cone

Number: 27841 HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S1
27841-04-03 7/16"X20 5 3 37.6 9 17.2 | 15
27841-06-04 5/8"X20 6 4 42 | 113|199 | 17
27841-06-06 5/8"X18 10 6 457 | 113 | 214 | 22
27841-08-08 3/4"X18 12 8 582 | 11 | 233 | 24
27841-10-10 7/8"X16 16 10 69.4 | 13 | 246 | 27
27841-12-12 |1.1/16"X12 20 12 76.8 1 143 | 30 32

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 27842-xx-xx.

90° SAE Female 90°Cone

Number: 27891 HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH| A Cc H S2
27891-04-03 7/16"X20 5 3 26.5 9 305 15
27891-06-04 5/8"X20 6 4 30 | 11.3 | 36 22
27891-06-06 5/8"X18 10 6 353|113 | 413 | 22
27891-10-08 7/8"X18 12 8 41 13 47 27
27891-10-10 7/8"X16 16 10 56.5| 13 | 515 | 27
27891-12-12 |1.1/16"X12 20 12 65.5] 143|635 | 32

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number

iS 27892-XX-XX.

www.strongflex.com

44



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -122 SAE Flange 3000PSI

SAE Flange 3000PSI

Number: 87311 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - ISO 12151-3 PARTNO. SIZE DN [DASH| A | cC D L
87311-08-08 1/2" 12 8 46 30.2 24 6.73
87311-12-08 3/4" 12 8 47 | 381317673
87311-12-10 3/4" 16 10 48 38.1 | 31.7 ] 6.73
87311-12-12 3/4" 20 12 48 [ 381317673
87311-12-16 3/4" 25 16 49 38.1 | 31.7 ] 6.73
87311-16-12 1" 20 12 51 |444| 38 | 8
87311-16-16 1" 25 16 52 44.4 38 8
87311-16-20 1" 32 20 53 |444| 38 | 8
87311-20-16 1.1/4" 25 16 57 50.8 43 8
87311-20-20 1.1/4" 32 20 58 |508| 43 | 8
87311-24-20 1.1/2" 32 20 68 60.3 50 8
87311-24-24 1.1/2" 40 24 68 |603| 50 | 8
87311-32-24 2" 40 24 70 71.4 62 9.53
87311-32-32 2" 50 32 70 | 714 | 62 | 953
87311-40-40 2.1/2" 64 40 76 84.1 74 9.53

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 87312 -xx-xx .

45° SAE Flange 3000PSI

Number: 87341 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - ISO 12151-3 PARTINO SIZE DN [pasH| A | c | b | H | L
87341-08-08 1/2" 12 8 58.2 | 30.2 24 23.3 | 6.73
87341-12-08 3/4" 12 8 58.9 | 38.1 | 31.7 24 6.73
87341-12-10 3/4" 16 10 70.1 | 38.1|31.7 ] 25.3|6.73
87341-12-12 3/4" 20 12 77 38.1 | 31711289 |6.73
87341-16-12 1" 20 12 77 44.4 38 28.9 8
87341-16-16 1" 25 16 85.2 | 44.4 38 29.7 8
87341-16-20 1" 32 20 945 | 44.4 38 33.8 8
87341-20-16 1.1/4" 25 16 85.2 | 50.8 43 29.7 8
87341-20-20 1.1/4" 32 20 945 | 50.8 | 43 33.8 8
87341-24-20 1.1/2" 32 20 95.9 | 60.3 50 35.2 8
87341-24-24 1.1/2" 40 24 109.9| 60.3 50 39.1 8
87341-32-24 2" 40 24 109.9]| 71.4 62 39.1 | 9.53
87341-32-32 2" 50 32 129.3| 71.4 62 46.3 | 9.53

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 87342 -xx-xx .

www.strongflex.com



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -122 SAE Flange 3000PSI

90° SAE Flange 3000PSI

Swaged Hose Fittings

Number: 87391 FLANGE | HOSE BORE DIMENSIONS
Ref. SAE J516 - ISO 12151-3 PARTNO. SIZE DN | DASH| A | c | Db | H | L
87391-08-08 1/2" 12 8 41 | 30.2 | 24 47 | 6.73
87391-12-08 3/4" 12 8 41 |138.1|31.7| 48 |6.73
87391-12-10 3/4" 16 10 56.5 | 37.1 | 31.7 525 | 6.73
87391-12-12 3/4" 20 12 66.2 | 38.1 | 31.7 | 62 |6.73
87391-12-12(H100) 3/4" 20 12 65.5]38.1 | 31.7 | 100 | 6.73
87391-12-12(H127) 3/4" 20 12 65.538.1 | 31.7 | 127 | 6.73
87391-12-12(H150) 3/4" 20 12 65.51]38.1 | 31.7 | 150 | 6.73
87391-12-16 3/4" 25 16 76.7 | 38.1 | 31.7 | 67.5 | 6.73
87391-16-12 1" 20 12 66.2 | 444 | 38 62 8
87391-16-16 1" 25 16 78 | 444 | 38 | 67.5 8
87391-16-16(H100) 1" 25 16 76.7 | 444 | 38 100 8
87391-16-16(H127) 1" 25 16 76.7 | 444 | 38 127 8
87391-16-16(H150) 1" 25 16 76.7 | 444 | 38 150 8
87391-16-20 1" 32 20 915|444 | 38 | 785 8
87391-20-16 1.1/4" 25 16 78 | 50.8 | 43 67.5 8
87391-20-20 1.1/4" 32 20 915|508 | 43 | 785 8
87391-20-20(H100) 1.1/4" 32 20 91.5 | 50.8 | 43 100 8
87391-20-20(H127)|  1.1/4" 32 20 915 | 50.8 | 43 127 8
87391-20-20(H150) 1.1/4" 32 20 91.5 | 50.8 | 43 150 8
87391-20-24 1.1/4" 40 24 108.5( 50.8 | 43 | 785 8
87391-24-20 1.1/2" 32 20 91.5 ]| 60.3 | 50 | 80.5 8
87391-24-24 1.1/2" 40 24 109.4| 60.3 | 50 94 8
87391-24-24(H127) 1.1/2" 40 24 109.4| 60.3 | 50 127 8
87391-32-24 2" 40 24 109.4| 71.4 | 62 94 | 9.53
87391-32-32 2" 50 32 131.8| 71.4 | 62 |114.3| 9.53
87391-40-32 2.1/2" 50 32 131.8| 84.1 | 74.7 [114.3] 9.53
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 87392 -xx-xx .
SAE Split Flange Clamps 3000 PSI
Number: FL FLANGE DIMENSIONS
Ref. SAE J518 - ISO 6162 PARTNO. SIZE A B c|pbo|E BOLT | MP
FL-08 1/2" 53.8 46.1 38.1 17.5 M8X25
FL-12 3/4" 65 52.4 476 | 11 | 22.2 M10X30 34.5
FL-16 1" 69.9 58.7 524 11 26.2 M10X30
FL-20 1.1/4" 79.2 73 58.7 | 11 | 30.2 M10X30 27.6
FL-24 1.1/2" 93.7 82.6 69.9 | 13.5 | 35.7 M12X35 0.7
FL-32 2" 101.6 96.8 77.8 | 135 | 429 M12X35
FL-40 2.1/2" 114 109 88.9 | 13.5 | 50.8 M12X40 10
FL
Note: Bolt should be ordered another.
www.strongflex.com 46



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -123 SAE Flange 6000PSI

SAE Flange 6000PSI

Number: 87611 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - ISO 12151-3 PARTINO. SIZE DN [ pbAsH| A | C D L
87611-08-08 1/2" 12 8 47 31.7 24 7.75
87611-12-10 3/4" 16 10 51 |413| 32 | 876
87611-12-12 3/4" 20 12 51 41.3 32 8.76
87611-16-12 1" 20 12 56 | 47.6 | 38 | 953
87611-16-16 1" 25 16 57 47.6 38 9.53
87611-16-20 1" 32 20 61 | 476 | 38 | 953
87611-20-16 1.1/4" 25 16 65 54 44 110.29
87611-20-20 1.1/4" 32 20 66 | 54 | 44 |10.29
87611-24-20 1.1/2" 32 20 75 63.5 51 |12.57
87611-24-24 1.1/2" 40 24 75 | 635 | 51 |12.57
87611-32-24 2" 40 24 85 79.4 67 |12.57
87611-32-32 2" 50 32 85 | 79.4 | 67 |1257

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 87612-xx-xx.

45° SAE Flange 6000PSI

Number: 87641 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - ISO 12151-3 PARTINO. SIZE DN [ pbAsH| A | cC D H L
87641-08-08 1/2" 12 8 58.9 | 31.7 24 24 7.75
87641-08-12 1/2" 20 12 | 749|317 | 24 | 275|775
87641-12-10 3/4" 16 10 725 | 41.3 32 28.2 | 8.76
87641-12-12 3/4" 20 12 | 792|413| 32 | 318|876
87641-16-16 1" 25 16 90.2 | 47.6 38 34.7 | 9.53
87641-20-20 1.1/4" 32 20 |[103.8| 54 | 44 | 415 [10.29
87641-24-20 1.1/2" 32 20 105.8| 63.5 51 45.1 |12.57
87641-24-24 1.1/2" 40 24 |116.2| 635 | 51 | 455 [12.57
87641-32-24 2" 40 24 125.4| 79.4 67 54.7 |12.57
87641-32-32 2" 50 32 |135.7| 79.4 | 67 | 527 [12.57

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 87642-xx-xx.

www.strongflex.com



[S]{B StronSFlex

1.2 Hydraulic Hose Fittings

1.2 -123 SAE Flange 6000PSI

90° SAE Flange 6000PSI

Swaged Hose Fittings

Number: 87691
Ref. SAE J516 - ISO 12151-3

SARTNG. | FLANGE HOSE BORE DIMENSIONS

SIZE DN [ DASH| A C D H L
87691-08-08 1/2" 12 8 41 | 317 24 | 48 | 775
87691-12-10 3/4" 16 10 |565|41.3| 32 | 565|876
87691-12-12 3/4" 20 12 | 662|413 32 | 66 | 876
87691-16-12 1" 20 12 | 662|476 38 | 69 | 953
87691-16-16 1" 25 16 78 | 476 | 38 | 745 | 953
87691-16-20 1" 32 20 |915]|476| 38 | 855|953
87691-20-16 1.1/4' 25 16 78 | 54 | 44 | 785 [10.29
87691-20-20 1.1/4" 32 20 |915]| 54 | 44 | 895 [10.29
87691-24-20 1.1/2" 32 20 | 915|635 51 | 945 [12.57
87691-24-24 1.1/2" 40 24 |109.4| 635 | 51 | 108 [12.57
87691-32-24 2 40 24 |109.4]| 79.4 | 67 | 116 [12.57
87691-32-32 2 50 32 |131.8]| 79.4 | 67 |136.3[12.57

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 87692-xx-xx.

SAE Split Flange Clamps 6000 PSI

Number: FS FLANGE DIMENSIONS
Ref. SAE J518 - ISO 6162 PARTNO. SIZE A B C D E BOLT MP
FS-08 1/2" 56.3 49.2 40.5 9 18.2 M8X30
FS-12 3/4" 714 | 618 [508| 11 [ 238| M10X35
FS-16 1" 81 71.4 57.2 13 27.8 M12X45
FS-20 1.1/4" 953 | 792 |667| 15 | 31.8| M14x50 "
FS-24 1.1/2" 112.8 96.8 79.4 17 36.6 M16X55
FS-32 2" 1334 | 1156 | 96.8 | 21 | 444 | M20X70
Note: Bolt should be ordered another.
www.strongflex.com 48



[S] StrongFlex 1.2 Hydraulic Hose Fittings
Swaged Hose Fittings

1.2 -125 JIS Flange

JIS Flang
Number: 88111 HOSE BORE DIMENSIONS
PART NO. FLANGE
Ref. JIS B 8363 SIZE DN | DASH| A C D L
88111-10-08 5/8" 12 8 45 342 | 278 6.7
88111-10-10 5/8" 16 10 46 | 342|278 6.7
88111-10-12 5/8" 20 12 46 342 | 278 6.7
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number
is 88112-xx-XX.
45° JIS Flang
Number: 88141 HOSE BORE DIMENSIONS
PART NO. FLANGE
Ref. JIS B 8363 SIZE DN | DASH| A C D H L
88141-10-08 5/8" 12 8 5891 34.2 | 27.8 24 6.7
88141-10-10 5/8" 16 10 70.2 |1 342 | 278 | 253 | 6.7
88141-10-12 5/8" 20 12 76.2 | 342 | 27.8 | 288 | 6.7
Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number
is 88142-xx-XX.
90° JIS Flang
Number: 88191 HOSE BORE DIMENSIONS
PART NO. FLANGE
Ref. JIS B 8363 SIZE DN | DASH| A C D H L
88191-10-08 5/8" 12 8 41 34.2 | 27.8 48 6.7
88191-10-10 5/8" 16 10 56.5| 34.2 | 27.8 | 525 | 6.7
88191-10-12 5/8" 20 12 65.5| 34.2 | 27.8 62 6.7

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting
series number is 88192-xx-XX.

www.strongflex.com 49




[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -126 JIS Metric 60° Seal

JIS Metric Male 60°Cone Seat

Number: 18611 HOSE BORE DIMENSIONS
PART NO. THREAD E

Ref. JIS B 8363 DN DASH| A B S1
18611-14-04 M14X1.5 6 4 295 | 17 17
18611-14-06 M14X1.5 10 6 295 | 17 17
18611-16-04 M16X1.5 6 4 305 18 17
18611-16-06 M16X1.5 10 6 305 | 18 17
18611-18-06 M18X1.5 10 6 305 | 18 19
18611-20-08 M20X1.5 12 8 35 20 22
18611-22-08 M22X1.5 12 8 35 20 24
18611-24-10 M24X1.5 16 10 395|215 27
18611-30-12 M30X1.5 20 12 45 26 32
18611-33-16 M33X1.5 25 16 50.5| 30 36
18611-36-20 M36X1.5 32 20 55 33 38
18611-42-24 M42X1.5 40 24 60 36 46

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting seried number is 18612-XX-XX

JIS Metric Female 60°Cone Seat

Number: 28611 HOSE BORE DIMENSIONS
PART NO. THREAD E
Ref. JIS B 8363 DN DASH| A C S1 S2
28611-12-04 M12X1.5 6 4 20 9 17 17
28611-14-04 M14X1.5 6 4 21 | 105 19 19
28611-14-06 M14X1.5 10 6 21 |105)] 19 19
28611-16-04 M16X1.5 6 4 24 10 22 22
28611-16-05 M16X1.5 8 5 24 10 22 22
28611-16-06 M16X1.5 10 6 24 10 22 22
28611-18-06 M18X1.5 10 6 25 | 115)| 24 24
28611-18-08 M18X1.5 12 8 2451115 | 24 24
28611-20-08 M20X1.5 12 8 285 12 27 27
28611-22-08 M22X1.5 12 8 255 14 27 27
28611-24-08 M24X1.5 12 8 275 15 32 32
28611-24-10 M24X1.5 16 10 285 15 32 32
28611-27-10 M27X1.5 16 10 285 10 32 32
28611-30-12 M30X1.5 20 12 2851183 | 36 36
28611-33-12 M33X1.5 20 12 31 | 213 41 41
28611-33-16 M33X1.5 25 16 32 | 213 41 41
28611-36-20 M36X1.5 32 20 355 20 46 46
28611-42-24 M42X1.5 40 24 36 | 18.8 | 50 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting seried number is 28612-XX-XX

www.strongflex.com



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -126 JIS Metric 60° Seal

45° JIS Metric Female 60°Cone Seat

Number: 28641 HOSE BORE DIMENSIONS

Ref. JIS B 8363 PARTNO. THREADE DN DASH | A Cc H S1 S2
28641-14-04 M14X1.5 6 4 4341105213 | 19 19
28641-16-05 M16X1.5 8 5 476 | 10 | 243 | 22 22
28641-18-06 M18X1.5 10 6 49.2 | 115|249 | 24 24
28641-22-06 M22X1.5 12 8 62.1| 14 | 272 | 27 27
28641-24-10 M24X1.5 16 10 7471 15 | 299 | 32 32
28641-30-12 M30X1.5 20 12 80.9|118.3 | 335 | 36 36
28641-33-16 M33X1.5 25 16 89.9 1213|357 41 41
28641-36-20 M36X1.5 32 20 104.11 20 | 419 | 46 46
28641-42-24 M42X1.5 40 24 116.2| 18.8 | 45,5 | 50 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting seried number is 28642-XX-XX

90° JIS Metric Female 60°Cone Seat

Number: 28691 HOSE BORE DIMENSIONS
PARTNO. |THREAD E

Ref. JIS B 8363 DN | DASH| A | ¢ | H | s1 | s2

A 28691-14-04 | M14X15 | 6 4 30 |105]| 38 [ 19 | 19

el ,_['[Tl[jf‘_‘:[j' 28691-14-06 | M14X1.5 | 10 6 |355|105|433[ 19 | 19

N 28691-16-05 | M16X1.5 | 8 5 33 | 10 | 44 | 22 | 22

{ ¥ 28691-18-06 | M18X15 | 10 6 |[353[115]|463| 24 | 24

- i 28691-22-08 | M22X1.5 | 12 8 41 | 14 |s25| 27 | 27

ij 51 28691-24-10 | M24X1.5 | 16 10 |s65| 15 | 59 [ 32 | 32

1 (P o 28691-30-12 | M30XL5 | 20 12 |es5|183|685| 36 | 36

W)

o _EJ_‘=‘§* 28691 28691-33-16 | M33X1.5 | 25 16 | 767|213 76 | 41 | 41

£\ 28691-36-20 | M36X15 | 32 20 | 93 | 20 | 90 | 46 | 46

ey 28691-42-24 | M42X1.5 | 40 24 |109.4| 188 | 103 [ 50 | 50

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting seried humber is 28692-XX-XX.

www.strongflex.com



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -127 JIS GAS 60° Seal

JIS GAS Female 60°Cone Seat

Number: 29611 HOSE BORE DIMENSIONS

Ref. JIS B 8363 PARTNO. | THREADE DN | DAasH| A | ¢ | s1 | s2
29611-02-03 | G1/8"x28 | 5 3 20| 7 | 14 ] 14
29611-04-04 | G1/4"X19 | 6 4 21 | 8 | 19 | 19
29611-04-05 | G1/4"x19 | 8 5 21 | 8 | 19 | 19
29611-06-04 | G3/8'X19 | 6 4 24 | 9 | 22| 22
29611-06-06 | G3/8"x19 | 10 6 23| 9 | 22| 22
29611-08-06 | G1/2'X14 | 10 6 28 | 12 | 27 | 27
29611-08-08 | Gl/2'x14 | 12 8 |265]| 12 | 27 | 27

29611-10-10 | G5/8'X14 | 16 10 31 [115] 30 | 30
Strnn HB! 29611-12-10 | G3/4'x14 | 16 10 |285|135( 32 | 32

29611-12-12 | G3/4"X14 | 20 12 |285|135]| 32 | 32
29611-16-16 | G1"X11 25 16 32|16 ] 41| @

Note: 1.For use with braided hoses. 2. If use ZoELATDY | Sl e vdl] 22 2t e | AR | 20 20

with spiral hoses, hose fitting series number is | 29611-24-24W |G1.1/2"X11| 40 24 435 | 19 55 55

29612303 . 29611-32-32W | G2x11 | 50 32 [465| 23 | 70 | 70

45°JIS GAS Female 60°Cone Seat

Number: 29641 HOSE BORE DIMENSIONS

Ref. JIS B 8363 PARTNO. | THREADE DN [ DAasH| A | ¢ | H | s1 | s2
29641-04-04 | G1/4"X19 | 6 4 |434| 8 [213] 19 | 19
29641-06-06 | G3/8"X19 | 10 6 |489| 9o |2a6| 22 | 22
29641-08-08 | G1/2"'X14 | 12 8 |625| 12 275 27 | 27
29641-12-12 | G3/4'X14 | 20 12 |813|135]339]( 32 | 32
29641-16-16 | G1"X11 25 16 |873| 16 | 36 | 41 | 41
29641-20-20W |G1.1/4"X11| 32 20 |107.3| 185|465 | 50 | 50
29641-24-24W |G1.1/2"X11| 40 24 |1228| 19 | 508 | 55 | 55
29641-32-32W | G2'x11 50 32 |143| 23 | 60 | 70 | 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 29642-xx-xx .

90° JIS GAS Female 60°Cone Seat

Number: 29691 HOSE BORE DIMENSIONS
PART NO. THREAD E
Ref. JIS B 8363 DN DASH| A C H S1 S2
29691-04-04 | G1/4"X19 6 4 30 8 38 19 19
29691-04-05 G1/4"X19 8 5 33 8 41 19 19
29691-06-06 G3/8"X19 10 6 35.3 9 458 | 22 22
29691-08-08 G1/2"X14 12 8 41 12 53 27 27
29691-10-10 G5/8"X14 16 10 56.5]|11.5| 61 30 30
29691-12-12 G3/4'X14 20 12 65.5 ]| 135 | 69 32 32
29691-16-16 G1"X11 25 16 76.7 | 16 | 76.5| 41 41
29691-20-20W [G1.1/4"X11| 32 20 915|185 | 925 | 50 50
29691-24-24W |G1.1/2"X11| 40 24 109.4| 19 [110.5| 55 55
29691-32-32W | G2"X11 50 32 131.8| 23 [133.8| 70 70

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 29692-xx-xx .

www.strongflex.com



(S] StronZFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -128 Staple-Lock

MT Staplelock Male

Number: 60011 BART NO. HOSE BORE DIMENSIONS
DN DASH | A c| 3|«
A 60011-04-04 6 4 31 | 25|15 | 11
¢ 60011-05-05 8 5 335 | 26 | 18 | 13
T =7 %Lﬂr .| 60011-06-06 10 6 33 | 26 | 18 | 15
M U‘M TN J_LJ 60011-08-06 10 6 335 | 26 | 22 | 18
60011-08-08 12 8 34 | 26 | 22 | 18
60011-10-10 16 10 39 | 30| 25 | 20
sn'[]n Heu 60011-12-12 20 12 | 405 | 31 | 28 | 24
- 60011-16-14 22 14 41 | 31| 35 | 30
60011-16-16 25 16 42 | 31| 35 | 30

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 60012-xx-xx.

SAE Staplelok Male

Number: 67011 BART NO. HOSE BORE ORING DIMENSIONS
Ref. SAE J1467 DN DASH Al c | 3 K
A 67011-04-04 6 4 006.0x2.0 | 34 | 28 | 149 99
. 67011-06-06 10 6 010.0x2.0 | 35 | 28 | 19.9] 139
7 27 67011-08-08 12 8 013.0x25 | 36 | 28 | 239 17.9
e 67011-12-12 20 12 019.0x2.5 | 375| 28 | 289 239
LUL J [ LI T 67011-16-16 25 16 025.0x25 | 44 | 33 | 38.38[ 309
67011-20-20 32 20 033.0%x25 | 44 | 33 | 459379
67011-24-24 40 24 040.0X3.0 | 475|363 | 54.9| 46.9
SII'[III FIEH 67011-32-32 50 32 050.0x3.0 |47.5| 36.3| 63.9 | 55.9

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number
is 67012-xx-XX.

www.strongflex.com 53



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -129 Banjo

Metric Banjo

Number: 70011 BOLT HOSE BORE DIMENSIONS
PART NO

Ref. DIN 7642 THREAD | pN | DASH| A d D H
70011-10-03 | M10X1 5 3 |1as5|101| 17 | 10

70011-10-04 | M10X1 6 4 17 | 101 | 17 | 10

70011-12-04 | M12X1.5 6 4 205|121 20 | 12

70011-12-05 | M12X1.5 8 5 |205[121] 20 | 12

70011-12-06 | M12X15 | 10 6 |205[121] 20 | 12

70011-14-04 | M14X15 6 4 21 | 141 | 24 | 14

70011-14-05 | M14X1.5 8 5 21 141 ] 24 | 14

70011-14-06 | M14X15 | 10 6 21 | 141 | 24 | 14

Stl‘[lll H ex 70011-16-04 | M16X1.5 6 4 205|161 28 | 16
70011-16-05 | M16X1.5 8 5 |205[161] 28 | 16

70011-16-06 | M16X15 | 10 6 |205|161] 28 | 16

70011-18-04 | M18X1.5 6 4 23 | 181 32 | 20

70011-18-05 | M18X1.5 8 5 24 [181] 32 | 20

70011-18-06 | M18X15 | 10 6 24 | 181 32 | 20

70011-18-08 | M18X15 | 12 8 |24a5|181| 32 | 20

70011-22-06 | M22X15 | 10 6 |281|221] 39 | 25

70011-22-08 | M22X15 | 12 8 |285|221| 39 | 25

70011-22-10 | M22X15 | 16 10 28 | 221 39 | 25

70011-26-12 | M26X15 | 20 12 | 325|261 46 | 30

70011-30-16 | M30X15 | 25 16 37 | 301 54 | 36

70011-30-20 | M30X15 | 32 20 40 [301] 54 | 36

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 70012-xx-xx.

Metric Bole

Number: 700M DIMENSIONS
PARTNO |THREAD E

Ref. DIN 7643 A B C S1
700M-10 M10X1 19 5.5 6 14
700M-12 M12X1.5 24 7 6 17
700M-14 M14X1.5 26 9 6 19
700M-16 M16X1.5 28 11 6 22
700M-18 M18X1.5 32 13 6 24
700M-22 M22X1.5 39 16 7 27
700M-26 M26X1.5 45 20 7 32
700M-30 M30X1.5 51 24 7 36

www.strongflex.com

54



[S] StrongFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -129 Banjo

BSP Banjo
Number: 72011 HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A d D H
72011-02-03 G1/8"X28 5 3 18 9.9 22 16
72011-02-04 G1/8"X28 6 4 188.5( 9.9 22 16
72011-04-03 G1/4"X19 5 3 19 | 133 ]| 24 15
72011-04-04 G1/4"X19 6 4 19.5] 133 | 24 15
72011-04-05 G1/4"X19 8 5 195|133 | 24 15
72011-04-06 G1/4"X19 10 6 19.5] 133 | 24 15
72011-06-04 G3/8"X19 6 4 22 | 16.7 | 29 20
72011-06-05 G3/8"X19 8 5 22 | 16.7| 29 20
72011-06-06 G3/8"X19 10 6 22 | 16.7 | 29 20
72011-06-08 G3/8"X19 12 8 23 | 16.7| 29 20
72011-08-05 G1/2"X14 8 5 275 | 21 38 25
72011-08-06 G1/2"X14 10 6 2751 21 38 25
72011-08-08 G1/2"X14 12 8 28 21 38 25

72011-08-10 G1/2"X14 16 10 29 21 38 25
72011-10-10 G5/8"X14 16 10 28 23 40 27
72011-12-10 G3/4"X14 16 10 32 | 265 | 48 31
72011-12-12 G3/4"X14 20 12 32 | 265 | 48 31
72011-16-08 G1"X11 12 8 40 | 33.3| 60 42
72011-16-12 G1"X11 20 12 40 | 33.3 ] 60 42
72011-16-16 G1"X11 25 16 41 | 33.3| 60 42

Note: 1.For use with braided hoses. 2. If use with spiral hoses, hose fitting series number is 72012-xx-xx.

BSP Bolt
Number: 720B DIMENSIONS
PART NO. THREAD E
A B (& S1
720B-02 G1/8"X28 | 29.5 4.8 48 | 14
720B-04 G1/4"X19 28.5 6 6 19
720B-06 G3/8"X19 | 385 9 7 22
720B-08 G1/2"X14 44 13 8.5 27
720B-10 G5/8"X14 | 485 15 10 | 30
720B-12 G3/4"X14 56 18 10 32
720B-16 G1"X11 68.5 22 13 | 41

www.strongflex.com



(S] StronZFlex 1.2 Hydraulic Hose Fittings

Swaged Hose Fittings
1.2 -130 Double Connector

Double Connector For Wire Braid Hoses

Number: 90011 HOSE BORE DIMENSIONS
PART NO.
DN DASH L
90011-04 6 4 69
90011-05 8 5 69
90011-06 10 6 73
90011-08 12 8 77
90011-10 16 10 83
90011-12 20 12 93
90011-16 25 16 114
s"n“ HBH 90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

Double Connector For Wire Spiral Hoses

Number: 90012 HOSE BORE DIMENSIONS
PART NO.
DN DASH L

90012-04 6 4 83
90012-05 8 5 87
90012-06 10 6 87
90012-08 12 8 91
90012-10 16 10 97
90012-12 20 12 110
90012-16 25 16 134

sn'nn FIBH 90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

www.strongflex.com



qg; StronSFlex

1.2 Hydraulic Hose Fittings

Interlock Hose Fittings

1.2 - 201 Interlock Ferrule

Interlock Ferrule For SAE 100R13 / EN856 R13 Hose

Number: 00621

HOSE BORE DIMENSIONS
PART NO.
DN DASH D L

00621-12 20 12 455 53
00621-16 25 16 51 66
00621-20 32 20 60 88.5
00621-24 40 24 69.3 102
00621-32 50 32 86.5 108

1.2 - 205 Metric 24°Cone Seal H.T.

Metric Male 24°Cone Seat H.T.

Number: 10513 DARTNO. | ThREAD E HOSE BORE |TUBE DIMENSIONS
Ref. DIN 3861 - ISO 8434-1 DN [ DASH|[OD-[ A | c | s2
10513-36-12 | M36X2 20 12 25 | 435 20 | 38
10513-42-16 M42X2 25 16 30 46.4 20 46
10513-52-20 | M52X2 32 20 38 | 528 22 | 55
Metric Female 24°Cone O-Ring H.T.
Number: 20513 HOSE BORE |TUBE DIMENSIONS
PARTNO. |[THREAD E O RING
Ref. DIN 3865 - ISO 12151-2 DN | DAsH | O:D Al c|s2
20513-30-12T M30X2 20 12 20 016.3X2.4 30 3 36
C A 20513-36-16T | M36X2 25 16 25 | 0203%x2.4 [319| 3 | 41
% 20513-42-16T M42X2 25 16 30 025.3X2.4 | 33.4 5 50
] Para =& =SB S 20513-42-20T | M42X2 32 20 30 | 025.3x2.4 [388| 5 | 50
240 — “ | | | 20513-52-24T M52X2 40 24 38 033.3X2.4 | 38.2 | 6.5 60
B 20513-36-12T | M36X2 20 12 25 | 0203%2.4 [385| 3 | 41
B 82 20513-42-12T M42X2 20 12 30 025.3X2.4 42 5 50
20513-52-20T | M52X2 32 20 38 | 033.3x2.4 | 453 | 65 | 60
45°Metric Female 24°Cone O-Ring H.T.
Number: 20543 AT NG, | THREAD E HOSE BORE O RING DIMENSIONS
DN DASH A © H S2
20543-42-16T | M42X2 25 16 | 025.3x2.4 [1023| 5 |[359] 50
20543-36-12T M36X2 20 12 020.3X2.4 | 89.4 3 33 41
20543-52-20T | M52X2 32 20 | 033.3x2.4 [1145| 65 [39.4] 60
www.strongflex.com 57



(‘9]@ StronZFlex

1.2 Hydraulic Hose Fittings

Interlock Hose Fittings

1.2 - 205 Metric 24°Cone Seal H.T.

90°Metric Female 24°Cone O-Ring H.T.

Number: 20593
Ref. DIN 3865 - ISO 12151-2

HOSE BORE DIMENSIONS
PART NO. THREAD E O RING

DN DASH A c H S2
20593-36-16W M36X2 25 16 020.3X2.4 | 889 3.2 | 795 | 46
20593-42-16W M42X2 25 16 025.3X2.4 | 88.9 5 80.5| 50
20593-42-20W M42X2 32 20 025.3X2.4 [105.8| 5 915 | 50
20593-52-24W M52X2 40 24 033.3X2.4 |124.2| 6.5 | 105 | 60
20593-36-12T M36X2 20 12 020.3X2.4 | 745 | 3.2 | 67.8| 46
20593-52-20T M52X2 32 20 033.3X2.4 1105.8| 6.5 | 86.5| 60

1.2 - 212 BSPT Male

BSPT Male
Number: 13013-SP HOSE BORE DIMENSIONS
PARTNO. [THREADE
A DN |DasH| A | ¢ | s1
C 13013-12-12SP | R3/4"X14 | 20 12 38 | 20 | 30
. 13013-16-16SP [ R1"X11 25 16 |[459|255]| 38
A, P T s
13013-20-20SP |R1.1/4"X11| 32 20 |[513|265]| 46
—| \ ‘J—L 13013-24-24SP [R1.1/2"x11| 40 24 |532]265]| 50
"] 13013-32-32SP | R2"X11 50 32 |585]| 30 | 65
E™\s1
1.2 - 215 BSP 60°
BSP Male 60°Cone Seat
Number: 12613 HOSE BORE DIMENSIONS
PARTNO. [THREADE
A DN [pasH| A | c | s1
C 12613-12-12 | G3/4"X14 | 20 12 |[375|185] 30
- 12613-16-16 | G1"X11 25 16 41 | 205 36
so-| wl] | | 126132020 |[GL14'x11| 32 20 |[453|205]| 46
—I 12613-24-24 |GL.1/2°x11| 40 24 |[497| 23 | s0
P =
st 12613-32-32 | G2'x11 50 32 52 | 255 60
BSP Male 60°Cone Seat
Number: 22613-ORW HOSE BORE DIMENSIONS
PARTNO. [THREADE
C A DN | DASH Al c | s2
N 22613-12-120RW/| G3/4"x14 | 20 12 275| 87 | 32
22613-16-160RW| G1"X11 25 16 324|105 41
60“0'-IJ 1 22613-20-200RW|G1.1/4"x11| 32 20 358 | 10.1 | 50
22613-24-240RW|G1.1/2"x11| 40 24 36.7 | 125 | 55
22613-32-320RW| G2"Xx11 50 32 365| 16 | 70

www.strongflex.com

58



(‘9]@ StronZFlex

1.2 Hydraulic Hose Fittings

Interlock Hose Fittings

1.2 - 215 BSP 60°

45° BSP Female 60°Cone

Number: 22643-W HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A C H S2
22643-12-12W | G3/4"X14 20 12 88.3| 87 | 325 32
22643-16-16W | G1"X11 25 16 99.3 1105|329 | 41
22643-20-20W G1.1/4"X11| 32 20 112.9] 10.1 | 37.9 | 50
22643-24-24W |G1.1/2"X11 40 24 131 | 125 | 455 | 55
22643-32-32W | G2"X11 50 32 154.7| 16 | 527 | 70
90° BSP Female 60°Cone
Number: 22693-W HOSE BORE DIMENSIONS
PART NO. |THREAD E
DN DASH A C H S2
22693-12-12W | G3/4"X14 20 12 738 87 | 67.1| 32
22693-16-16W | G1"X11 25 16 919 (105 | 72 | 41
22693-20-20W [G1.1/4"X11 32 20 105.8| 10.1 | 88.3 | 50
22693-24-24W [G1.1/2"X11| 40 24 124.2| 12,5 | 103 | 55
22693-32-32W G2"X11 50 32 148.8| 16 123 | 70

1.2 -216 NPT

NPT Male

Number: 15613

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1
15613-12-12 Z3/4"X14 20 12 375195 | 30
15613-16-16 Z1"X11.5 25 16 459 | 255 | 38
15613-20-20 |Z1.1/4"X115] 32 20 51.3 | 26.5| 46
15613-24-24 |Z1.1/2"X11.5| 40 24 542 | 27.5 | 50
15613-32-32 Z2"X11.5 50 32 56.5 | 27.5 | 65

1.2 - 228 Staplelok

SAE Staple-Lok Male

Number: 67013 HOSE BORE DIMENSIONS
PART NO. O-Ring BAFFLE
DN DASH A J K L
67013-20-20 32 20 OR-Y20 DQ-Y20 33 | 459|379 48.8
67013-24-24 40 24 OR-Y24( DQ-Y24 36.5 | 54.9]|46.9 | 525
67013-32-32 50 32 OR-Y32 DQ-Y32 36.5 | 63.9 | 55.9 | 52.5
www.strongflex.com 59



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

SAE Flange 3000 PSI

Interlock Hose Fittings

1.2 - 222 SAE Flange 3000PSI

Number: 87313 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 PARTNO. SIZE DN |DASH| A | c D L
87313-12-12 3/4" 20 12 50 38.1 | 31.7 ] 6.73
87313-16-12 1" 20 12 54 |444| 38 | 8
87313-16-16 1" 25 16 54.4 | 44.4 38 8
87313-20-16 1.1/4" 25 16 |59.4|508| 43 | 8
87313-20-20 1.1/4" 32 20 65.8 | 50.8 43 8
87313-24-20 1.1/2" 32 20 | 718|603 50 | 8
87313-24-24 1.1/2" 40 24 72.2 | 60.3 50 8
87313-32-24 2" 40 24 | 742|714 62 | 953
87313-32-32 2" 50 32 785 | 71.4 62 9.53

45° SAE Flange 3000 PSI

Number: 87343 PART NO. FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 SIZE DN |DASH| A | c D H L
87343-12-12 3/4" 20 12 85.8 |1 38.1 ]| 31.7| 289 ] 6.73
87343-16-12 1" 20 12 |858|444| 38 [289]| 8
87343-16-16 1" 25 16 96.1 | 44.4 38 29.7 8
87343-20-16 1.1/4" 25 16 |96.1|508| 43 [207] 8
87343-20-20 1.1/4" 32 20 108.8] 50.8 43 33.8 8
87343-24-20 1.1/2" 32 20 |1102[603| 50 [352| 8
87343-24-24 1.1/2" 40 24 123.7] 60.3 50 39.1 8
87343-32-24 2" 40 24 |1237|71.4| 62 [ 391|953
87343-32-32 2" 50 32 148.3| 71.4 62 46.3 | 9.53

90° SAE Flange 3000 PSI

Number: 87393 PART NO. FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 SIZE DN |DASH| A | c D H L
87393-12-12 3/4" 20 12 75 38.1 | 31.7 62 6.73
87393-16-12 1" 20 12 75 |444| 38 | 62 | 8
87393-16-16 1" 25 16 88.9 | 44.4 38 67.5 8
87393-20-16 1.1/4" 25 16 |889|508| 43 [675]| 8
87393-20-20 1.1/4" 32 20 105.8] 50.8 43 78.5 8
87393-24-20 1.1/2" 32 20 |105.8[ 603 | 50 [805| 8
87393-24-24 1.1/2" 40 24 123.2] 60.3 50 94 8
87393-32-24 2" 40 24 1232|714 62 | 94 | 953
87393-32-32 2" 50 32 150.3] 71.4 62 |114.3| 9.53

www.strongflex.com

60



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

SAE Flange 6000 PSI

Interlock Hose Fittings

1.2 - 223 SAE Flange 6000PSI

Number: 87693 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 PARTNO. SIZE DN | DASH | A C D L
87613-12-12 3/4" 20 12 53 41.3 32 8.76
87613-16-12 1" 20 12 58 47.6 38 9.53
87613-16-16 1" 25 16 59.4 | 47.6 38 9.53
87613-20-16 1.1/4" 25 16 67.4 | 54 44 140.29
87613-20-20 1.1/4" 32 20 69.8 54 44 110.29
87613-20-24 1.1/4" 40 24 74.7 54 44 110.29
87613-24-20 1.1/2" 32 20 78.8 | 63.5 51 |12.57
87613-24-24 1.1/2" 40 24 78.7 | 63.5 51 1257
87613-32-24 2" 40 24 91.2 | 79.4 67 |12.57
87613-32-32 2" 50 32 91 79.4 67 |12.57

45° SAE Flange 6000 PSI

Number: 87643 BART NO. FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - ISO 12151-3 SIZE DN [DASH| A | ¢ | D | H L
87643-12-12 3/4" 20 12 88.7 | 41.3 32 31.8 | 8.76
87643-16-12 1" 20 12 90.8 | 47.6 38 33.2 | 9.53
87643-16-16 1" 25 16 101.1| 47.6 38 34.7 | 9.53
87643-20-16 1.1/4" 25 16 103.9] 54 44 37.5 | 10.3
87643-20-20 1.1/4" 32 20 116.6| 54 44 | 415 | 10.3
87643-24-20 1.1/2" 32 20 120.1] 63.5 51 451 | 12.6
87643-24-24 1.1/2" 40 24 134.6| 63.5 51 49 | 12.6
87643-32-24 2" 40 24 140.2]1 79.4 67 54.7 | 12.6
87643-32-32 2" 50 32 163.3| 79.4 67 61.9 | 12.6

90° SAE Flange 6000 PSI

Number: 87693 PART NO. FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - ISO 12151-3 SIZE DN [DASH| A | ¢ | D | H L
87693-12-12 3/4" 20 12 75 41.3 32 66 | 8.76
87693-16-12 1" 20 12 75 47.6 38 68 9.53
87693-16-16 1" 25 16 88.9 | 47.6 38 73.5 | 9.53
87693-20-16 1.1/4" 25 16 88.9 54 44 78.5 | 10.3
87693-20-20 1.1/4" 32 20 105.8|] 54 44 | 86.5 | 10.3
87693-24-20 1.1/2" 32 20 105..8] 63.5 51 89.5 | 12.6
87693-24-24 1.1/2" 40 24 124.2| 63.5 51 103 | 12.6
87693-32-24 2" 40 24 124.21 79.4 67 103 | 12.6
87693-32-32 2" 50 32 150.3| 79.4 67 |1123.3| 12.6

www.strongflex.com

61



(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

SAE Flange 9000 PSI

Interlock Hose Fittings

1.2 - 224 SAE Flange 9000PSI

Number: 87913 FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 PARTNO. SIZE DN |DASH| A | c D L
87913-12-12 3/4" 20 12 585 | 41.3 | 31.7 | 14.3
87913-16-12 1" 20 12 63 |476| 38 | 143
87913-16-16 1" 25 16 64.4 | 47.6 38 14.3
87913-20-16 1.1/4" 25 16 |668| 54 | 43 | 143
87913-20-20 1.1/4" 32 20 73.8 54 43 14.3
87913-24-20 1.1/2" 32 20 | 806 |635]|508|14.3
87913-24-24 1.1/2" 40 24 80.7 | 63.5 ] 50.8 | 14.3

45° SAE Flange 9000 PSI

Number: 87943 BART NO. FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 SIZE DN |DASH| A | c D H L
87943-12-12 3/4" 20 12 926 | 41.3 | 31.7 | 35.6 | 14.3
87943-16-12 1" 20 12 | 937|476| 38 [367]143
87943-16-16 1" 25 16 103.9] 47.6 38 375 | 14.3
87943-20-16 1.1/4" 25 16 |1046| 54 | 43 [ 382|143
87943-20-20 1.1/4" 32 20 117.3] 54 43 42.3 | 14.3
87943-24-20 1.1/2" 32 20 | 118 | 635|508 | 43 [143
87943-24-24 1.1/2" 40 24 13251 63.5 | 50.8 | 46.9 | 14.3

90° SAE Flange 9000 PSI

Number: 87993 BART NO. FLANGE | HOSE BORE DIMENSIONS

Ref. SAE J516 - 1ISO 12151-3 SIZE DN |DASH| A | c D H L
87993-12-12 3/4" 20 12 75 41.3 | 31.7 |1 715 | 14.3
87993-16-12 1" 20 12 75 |476| 38 | 73 | 143
87993-16-16 1" 25 16 88.9 | 47.6 38 78.5 | 14.3
87993-20-16 1.1/4" 25 16 |889| 54 | 43 [ 795|143
87993-20-20 1.1/4" 32 20 105.8] 54 43 90.5 | 14.3
87993-24-20 1.1/2" 32 20 |105.8| 635|508 | 915|143
87993-24-24 1.1/2" 40 24 124.21 63.5 | 50.8 | 105 | 14.3

1.2 - 230 Double Connector

Double Connector For Interlock Hoses

Number: 90013

HOSE BORE
PART NO. DIMENSIONS
DN DASH
90013-12 20 12 119
90013-16 25 16 150
90013-20 32 20 194
90013-24 40 24 223
90013-32 50 32 235

www.strongflex.com

62



(S] StrongFlex 1.2 Hydraulic Hose Fittings

Reusable Hose Fitting

1.2 - 301 Reusable Ferrule

Ferrule For SAE 100 R5 Hose

Number: 00518 PART NO. HOSE DASH DIVENSTONS
L S
| L - 00518-04 4 28 17
00518-05 5 30.5 19
//,‘?ll_/[l/_/_j_? 00518-06 6 33 22
,‘i' l'i l 00518-08 8 42 24
1 B 00518-10 10 455 30
00518-12 12 53.5 32
00518-16 16 42 36
00518-20 20 44.5 46
00518-24 24 47 50
00518-32 32 57 65
1.2 - 304 Metric 24° Cone Seal L.T.
Metric Female 24°Cone O-Ring L.T. Double Hexagon
Number: 20418D-R5 HOSE BORE|TUBE| DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNO THREAD E DN | DASH| O.D.| C S1 | S2
20418D-14-04(R5) M14X1.5 5 4 8 1.4 12 17
C A 20418D-16-05(R5) M16X1.5 6 5 10 | 22 | 14 | 19
§ 20418D-18-06(R5) M18X1.5 8 6 12 1.8 17 22
| 20418D-22-08(R5) M22X1.5 11 8 15 3 19 | 27
2 ﬂH o N | | J____l 20418D-26-10(R5) M26X1.5 13 | 10 | 18 | 22| 27 | 32
20418D-30-12(R5) M30X2 16 | 12 | 22 | 38 | 30 | 36
s2 ﬂ}’_' 20418D-36-16(R5) M36X2 22 16 28 4.5 36 41
20418D-45-16(R5) M45X2 22 | 16 | 35 4 41 | 50
20418D-45-20(R5) M45X2 28 | 20 | 35 4 41 | 50
20418D-52-24(R5) M52X2 35 | 24 | 42 4 50 | 60
Metric Female 24°Cone O-Ring L.T.
Number: 20418-R5T HOSE BORE|TUBE| DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNO THREADE DN | DASH| O.D.| C S1
20418-14-04(R5T) M14X1.5 5 4 1.4 | 17
20418-16-05(R5T) M16X1.5 6 5 2.1 19
20418-18-06(R5T) M18X1.5 8 6 1.8 | 22
20418-22-08(R5T) M22X1.5 11 8 3 27
20418-26-10(R5T) M26X1.5 13 | 10 21 | 32
20418-30-12(R5T) M30X2 16 12 3.8 36
20418-36-16(R5T) M36X2 22 | 16 45 | 46
20418-45-16(R5T) M45X2 22 16 4 55
20418-45-20(R5T) M45X2 28 | 20 4 55
20418-52-24(R5T) M52X2 35 24 4 60

www.strongflex.com 63



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

Reusable Hose Fitting

1.2 - 305 Metric 24° Cone Seal H.T.

Metric Female 24°Cone O-Ring H.T. Double Hexagon

Number: 20518D-R5 HOSE BORE|TUBE| DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNO THREADE DN | DASH| O.D.| C S1 | s2
20518D-16-04(R5) M16X1.5 5 4 8 | 18| 14 | 19
C A 20518D-16-05(R5) M16X1.5 6 5 8 | 18| 14 | 19
§ 20518D-18-04(R5) M18X1.5 5 4 | 10 |15 17| 22
20518D-18-06(R5) M18X1.5 8 6 | 10 | 15| 17 | 22
24" ot — ne | | J____[ 20518D-20-06(R5) M20X1.5 8 6 | 12 | 25 | 17 | 24
20518D-22-06(R5) M22X1.5 8 6 | 14| 3 | 19 | 27
e Q?_' 20518D-24-08(R5) M24X1.5 11 | 8 | 16| 3 | 22| 30
20518D-30-10(R5) M30X2 13 [ 10 | 20 | 25 | 27 | 36
20518D-30-12(R5) M30X2 16 | 12 | 20 | 25 | 27 | 36
20518D-36-12(R5) M36X2 16 | 12 | 25 | 32 | 36 | 41
20518D-36-16(R5) M36X2 22 | 16 | 25 | 32| 36 | 41
20518D-42-16(R5) M42X2 22 | 16 | 30 | 39 | 41 | 50
20518D-42-20(R5) M42X2 28 | 20 | 30 | 39 | 41 | 50
20518D-52-20(R5) M52X2 28 | 20 | 38 | 45 | 50 | 60
20518D-52-24(R5) M52X2 35 | 24 | 38 | 45| 50 | 60
Metric Female 24°Cone O-Ring H.T.
Number: 20518-R5T HOSE BORE DIMENSIONS
Ref. DIN 3865 - ISO 12151-2 PARTNO THREADE DN | DASH C S1
20518-16-04(R5T) M16X1.5 5 4 1.8 | 19
20518-16-05(R5T) M16X1.5 6 5 1.8 | 19
20518-18-04(R5T) M18X1.5 5 4 15 | 22
20518-18-06(R5T) M18X1.5 8 6 15 | 22
20518-20-06(R5T) M20X1.5 8 6 25 | 24
20518-22-06(R5T) M22X1.5 8 6 3 | 27
20518-24-08(R5T) M24X1.5 11 | 8 3 | 30
20518-30-10(R5T) M30X2 13 | 10 25 | 36
20518-30-12(R5T) M30X2 16 | 12 25 | 36
20518-36-12(R5T) M36X2 16 | 12 32 | 41
20518-36-16(R5T) M36X2 22 | 16 32 | ;1
20518-42-16(R5T) M42X2 22 | 16 39 | 50
20518-42-20(R5T) M42X2 28 | 20 39 | 50
20518-52-20(R5T) M52X2 28 | 20 45 | 60
20518-52-24(R5T) M52X2 35 | 24 45 | 60
www.strongflex.com 64



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

BSP Male 60°Cone Seat

Reusable Hose Fitting

1.2 - 315 BSP 60°

Number: 12618D-R5 HOSE BORE DIMENSIONS
PART NO. THREAD E
DN |DASH S1
12618-04-04(R5) G1/4"X19 5 4 4
12618-06-05(R5) G3/8"X19 6 5 5
12618-06-06(R5) G3/8"X19 8 6 6
12618-08-08(R5) G1/2"X14 11 8 8
12618-10-10(R5) G5/8"X14 13 | 10 10
12618-12-12(R5) G3/4"X14 16 | 12 12
12618-16-16(R5) G1"X11 22 | 16 16
12618-20-20(R5) G1.1/4"X11 28 | 20 20
12618-24-24(R5) G1.1/2"X11 35 | 24 24
12618-32-32(R5) G2"X11 46 | 32 32
BSP Female 60°Cone Double Hexagon
Number: 22618D-R5 PART NO. THREAD & HCEJS DIMENSIONS
pasul A c | s1 | s2
C A 22618D-04-04(R5) G1/4"X19 4 26 | 55 | 14 | 19
22618D-06-05(R5) G3/8"X19 5 |291] 63| 17 | 22
: P 22618D-06-06(R5) G3/8"X19 6 30 | 63| 17 | 22
5°:>m ) | [Tl 22618D-08-08(R5) G1/2"X14 8 | 35 |75 10 | 27
1 22618D-10-10(R5) G5/8"X14 10 |355] 95| 22 | 30
u@ 22618D-12-12(R5) G3/4"X14 12 | 385]109 | 27 | 32
22618D-16-16(R5) G1"X11 16 | 37 |11.7| 32 | 4
22618D-20-20(R5) G1.1/4"X11 20 | 415 11 | 41 | s0
BSP Female 60°Cone Double Hexagon
Number: 22618D-R5 BART NO. THREAD E H(E>5 DIMENSIONS
pash| A [ € | ST
22618-04-04(R5T) G1/4"X19 4 26 | 55 | 19
22618-06-05(R5T) G3/8"X19 5 |291] 63| 22
22618-06-06(R5T) G3/8"X19 6 30 | 63| 22
22618-08-08(R5T) G1/2"X14 8 35 | 75 | 27
22618-10-10(R5T) G5/8"X14 10 | 355] 95 | 30
22618-12-12(R5T) G3/4"X14 12 | 385|109 | 32
22618-16-16(R5T) G1"X11 16 | 37 |11.7| 41
22618-20-20(R5T) G1.1/4"X11 20 | 415| 11 | 50

www.strongflex.com

65



(‘9]@ StronZFlex

1.2 Hydraulic Hose Fittings

NPT Male

Reusable Hose Fitting

1.2 - 316 NPT

Number: 15618-R5

DIMENSIONS

PART NO. THREAD E HOSE DASH A o1
15618-02-04(R5) Z1/8"X27 4 255 12
15618-04-04(R5) Z71/4"X18 4 17
15618-04-06(R5) Z1/4"X18 6 31 17
15618-06-05(R5) Z3/8"X18 5 32.9 19
15618-06-06(R5) Z3/8"X18 6 32 19
15618-08-08(R5) Z1/2"X14 8 40.5 22
15618-12-10(R5) Z3/4"X14 10 42.5 30
15618-12-12(R5) Z3/4"X14 12 43 30
15618-16-16(R5) Z1"X11.5 16 46.5 36
15618-20-20(R5) 71.1/4"X11.5 20 51.5 46
15618-24-24(R5) Z1.1/2"X11.5 24 52.5 50
15618-32-32(R5) Z2"X11.5 32 55 65

1.2 - 318 ORFS

ORFS Female Flat Seat Double Hexagon

Number: 24218D-R5

HOS DIMENSIONS
PART NO. THREAD E E

DASH c S1 | s2
24218D-04-04(R5) 9/16"X18 4 85 | 14 | 19
24218D-04-05(R5) 9/16"X18 5 85 | 14 | 19
24218D-06-06(R5) 11/16"X16 6 10 | 17 | 22
24218D-08-08(R5) 13/16"X16 8 11 | 19 | 27
24218D-10-10(R5) 1"X14 10 135 24 | 30
24218D-12-12(R5) 1.3/16"X12 12 15 | 30 | 36
24218D-16-16(R5) 1.7/16"X12 16 15 | 36 | 41
24218D-20-20(R5) 1.11/16"X12 20 15 | 41 | 50
24218D-24-24(R5) 2"X12 24 16 | 50 | 60

1.2 - 320 JIC 74°

JIC Male 74°Cone

Number: 16718-R5
Ref. SAE J514

DIMENSIONS
PART NO. THREAD E HOSE DASH

A S1
16718-04-04(R5) 7/16"X20 4 29 12
16718-06-05(R5) 9/16"X18 5 31 17
16718-06-06(R5) 9/16"X18 6 32 17
16718-08-06(R5) 3/4"X16 6 34.7 22
16718-08-08(R5) 3/4"X16 8 38 22
16718-10-10(R5) 7/8"X14 10 40.5 24
16718-12-12(R5) 1.1/16"X12 12 455 30
16718-16-16(R5) 1.5/16"X12 16 44 36
16718-20-20(R5) 1.5/8"X12 20 49.5 46
16718-24-24(R5) 1.7/8"X12 24 52.5 50

www.strongflex.com

66



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

JIC Female 74°Cone Seat Double Hexagon

Reusable Hose Fitting

1.2 - 320 JIC 74°

Number: 26718D-R5 BART NO. THREAD E H(E>5 DIMENSIONS
Ref. SAE J514 - ISO 8434-2 pasHl A c | s1| s2
26718D-04-04(R5) 7/16"X20 4 | 22 9 14 | 17
26718D-05-05(R5) 1/2"X20 5 95 | 14 | 17
26718D-06-06(R5) 9/16"X18 6 |245]|105]| 17 | 19
26718D-08-08(R5) 3/4"X16 8 |315]| 11 | 22 | 24
26718D-10-10(R5) 7/8"X14 10 | 34 | 13 | 27 | 27
26718D-12-12(R5) 1.1/16"X12 12 | 37 | 15 | 32 | 32
26718D-16-16(R5) 1.5/16"X12 16 |335]| 16 | 38 | 41
26718D-20-20(R5) 1.5/8"X12 20 |415| 17 | 41 | 50
26718D-24-24(R5) 1.7/8"X12 24 | 43 | 20 | 46 | 55
26718D-32-32(R5) 2.1/2"X12 32 | 455|235 65 | 75
JIC Female 74°Cone Seat
Number: 26718-R5T BART NO. THREAD & HCEJS DIMENSIONS
Ref. SAE J514 - ISO 8434-2 pasul A c | s2
26718-04-04(R5T) 7/16"X20 4 |205]| 9 15
26718-05-05(R5T) 1/2"X20 5 | 234| 95 | 17
26718-06-06(R5T) 9/16"X18 6 | 225|105 19
26718-08-08(R5T) 3/4"X16 8 |235| 11 | 24
26718-10-10(R5T) 7/8"X14 10 | 24 | 13 | 27
26718-12-12(R5T) 1.1/16"X12 12 | 26 | 15 | 32
26718-16-16(R5T) 1.5/16"X12 16 | 225]| 16 | 41
26718-20-20(R5T) 1.5/8"X12 20 | 24 | 17 | 50
26718-24-24(R5T) 1.7/8"X12 24 | 24 | 20 | 55
26718-32-32(R5T) 2.1/2"X12 32 | 26 [235| 75
90°JIC Female 74°Cone Seat
Number: 26798D-R5 BART NO. THREAD E H(E>5 DIMENSIONS
Ref. SAE J514 - ISO 8434-2 pasHl A c H | s1| s2
26798D-04-04(R5) 7/16"X20 4 |385| 9 [335] 14 | 15
26798D-05-05(R5) 1/2"X20 5 |434| 95| 37 | 14 | 17
26798D-06-06(R5) 9/16"X18 6 |448]105]|393| 17 | 19
26798D-08-08(R5) 3/4"X16 8 53 | 11 | 475 19 | 24
26798D-10-10(R5) 7/8"X14 10 | 665| 13 | 525 24 | 27
26798D-12-12(R5) 1.1/16"X12 12 | 795| 15 | 635 27 | 32
26798D-16-16(R5) 1.5/16"X12 16 |865| 16 | 70 | 32 | 41
26798D-20-20(R5)W 1.5/8"X12 20 [1005( 17 | 85 [ 38 | 50
26798D-24-24(R5)W 1.7/8"X12 24 | 121 | 20 [975| 46 | 55
26798D-32-32(R5)W 2.1/2"X12 32 |143.3| 235 [118.8[ 60 | 75
www.strongflex.com 67



[6‘]@ StronSFlex

1.2 Hydraulic Hose Fittings

SAE Male 90°Cone

Reusable Hose Fitting

1.2 - 321 SAE 90°

Number: 17818-R5 DIMENSIONS
PART NO. THREAD E HOSE DASH
Ref. SAE J513 A S1
—A1 17818-06-06(R5) 5/8"X18 33.7 17
f\ Wﬂl e |17818-08-08(R5) 3/4"X16 42 22
(90", w | | [| |17818-12-12(RS) 1.1/16"X14 51 30
s1
SAE Female 90°Cone Seat Double Hexagon
Number: 27818D-R5 HOS DIMENSIONS
PART NO. THREAD E E
pasHl A c | s1| s2
C. A 27818D-04-04(R5) 7/16"X20 4 | 22| 9 | 14| 15
27818D-05-05(R5) 1/2"X20 5 | 254 9 14 | 17
LT T ——
90°( [ 27818D-06-06(R5) 9/16"X18 6 26 | 11.3| 17 | 22
\\ | [ 27818D-08-08(R5) 3/4"X16 8 |315] 11 | 22 | 24
27818D-10-10(R5) 7/8"X14 10 | 34 | 13 | 27 | 27
52
51 27818D-12-12(R5) 1.1/16"X12 12 | 37 |143]| 32 | 32
SAE Female 90°Cone Seat
Number: 27818-R5T DIMENSIONS
PART NO. THREADE  [HOSE DASH
C A c | s2
27818-04-04(R5T) 7/16"X20 4 9 15
3
= 27818-05-05(R5T) 1/2"X20 5 9 17
00 |w| - 27818-06-06(R5T) 9/16"X18 6 11.3 | 22
' | J___J 27818-08-08(R5T) 3/4"X16 8 11 | 24
y
\ 27818-10-10(R5T) 7/8"X14 10 13 | 27
S2 27818-12-12(R5T) 1.1/16"X12 12 143 | 32
90° SAE Female 90°Cone Seat
Number: 27898D-R5 HOS DIMENSIONS
PART NO. THREAD E E
pasHl A C H | s1| s2
27898D-06-06(R5T) 9/16"X18 6 |448|113]408| 17 | 22
27898D-08-08(R5T) 3/4"X16 8 53 | 105|475 19 | 24
www.strongflex.com 68



(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

SAE Female 90°Cone Seat

Reusable Hose Fitting

1.2 - 322 SAE Flange 3000PSI

Number:87318D-R5 PART NO. Flange HOSE BORE DIMENSIONS
Size DN |pAsHl A | ¢ | s1
87318D-08-08(R5) 1/2 11 8 54 | 302 22
87318D-12-12(R5) 3/4” 16 12 | 55 | 381 27
87318D-16-16(R5) 1 22 16 | 55 | 444 32
87318D-20-20(R5) 1.1/4" 28 20 | 58 | 508 | 41
87318D-24-24(R5) 1.1/2¢ 35 24 | 70 | 60.3| 46
87318D-32-32(R5) 2" 46 32 | 72 | 71.4| 60
90° SAE Female 90°Cone Seat
Number:87398D-R5 PART NO. Flange HOSE BORE DIMENSIONS
Size DN | DASH | A C D H L | s1
87318D-08-08(R5)[  1/2¢ 11 8 53 | 302 24 | 47 |6.73]| 27
87318D-12-12(R5)|  3/4” 13 10 |665|381| 32 |525]|6.73| 32
87318D-12-12(R5)[  3/4” 16 12 | 795381 32 | 62 | 673 32
87318D-16-12(R5) 1’ 16 12 | 795|444 38 | 62 8 | 32
87318D-16-16(R5) 1 22 16 |865|444| 38 |675| 8 | 41
87318D-20-16(R5)[  1.1/4” 22 16 |865|508| 43 |675| 8 | 41
87318D-20-20(R5)|  1.1/4” 28 20 |100.5(508| 43 |785| 8 | 50
87318D-24-20(R5)[  1.1/2¢ 28 20 |100.5(603| 50 |805| 8 | 50
87318D-24-24(R5)[  1.1/2¢ 35 24 108 | 60.3| 50 | 94 8 | 55
slr“n Hel 87318D-32-24(R5) 2¢ 35 24 108 | 714 | 62 | 94 | 953 | 55
87318D-32-32(R5) 2" 46 32 |128.8| 71.4 | 62 [114.3| 953 | 70
www.strongflex.com 69



(S]@ StronSFlex

1.2 Hydraulic Hose Fittings

Socketless Hose Fitting

1.2 - 412 BSPT Male

BSPT Male

Number: 13011SP-PO

HOSE BORE| DIMENSIONS
PART NO. THREAD E

DN [DASH| A Cc S1
13011-02-04SP(PO) R1/8"X28 6 4 17.7 |1 10 12
13011-04-04SP(PO) R1/4"X19 6 4 205|145 14
13011-04-06SP(PO) R1/4"X19 10 6 22 | 145 17
13011-06-06SP(PO) R3/8"X19 10 6 235 15 19
13011-08-08SP(PO) R1/2"X14 12 8 305 20 22
13011-12-12SP(PO) R3/4"X14 20 12 1 294 | 20 27

1.2 - 415 BSP 60°

BSP Male 60°Cone Seat

Number: 12611-PO HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A C S1
12611-04-04PO | G1/4"X19 6 4 20 12 14
12611-06-06PO | G3/8"X19 10 6 22 135 | 17
12611-08-08PO | G1/2"X14 12 8 265 16 22
12611-10-10PO | G5/8"X14 16 10 275|175 | 24
12611-12-12PO | G3/4"X14 20 12 299|185 | 27
BSP Female 60°Cone
Number: 22611-PO HOSE BORE DIMENSIONS
L PART NO. THREAD E
Y DN DASH A C S1
22611-04-04PO | G1/4"X19 6 4 195 | 55 19
BO:DLJ [ _c] 22611-06-06PO | G3/8"X19 10 6 245 | 6.3 22
| w 22611-08-08PO | G1/2"X14 12 8 245 | 75 27
S2 22611-12-12PO | G3/4"X14 20 12 29 | 109 | 32
90°BSP Compact Female 60°Cone
Number: 22691K-PO HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A C H S1 S2
22691K-04-04PO| G1/4"X19 6 4 12 55 |185| 11 19
22691K-06-06PO| G3/8"X19 10 6 14 6.3 24 14 22
22691K-08-08PO| G1/2"X14 12 8 17 75 1265 19 27
22691K-12-12PO| G3/4"X14 20 12 2151109 | 33 27 32

www.strongflex.com

70



(S]@) StronZFlex

1.2 Hydraulic Hose Fittings

Socketless Hose Fitting

1.2 - 416 NPT

NPT Male

Number: 15611-PO

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A Cc S1
15611-02-04PO | Z1/8"X27 6 4 18.2 | 105 | 12
15611-04-04PO | Z1/4"X18 6 4 2271 15 14
15611-04-06PO | Z1/4'X18 10 6 225 15 14
15611-06-06PO | Z3/8"X18 10 6 235 16 19
15611-06-08PO | Z3/8"X18 12 8 23.7 ] 16 19
15611-08-08PO | 71/2"X14 12 8 29.2 1195 | 22
15611-08-10PO | Z1/2"X14 16 10 29 | 195 22
15611-12-12PO | Z3/4"X14 20 12 315|195 | 27

1.2 -420 JIC 74°

JIC Male 74°Cone SAE J514

Number: 16711-PO HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A C S1

16711-04-04PO | 7/16"X20 6 4 22 14 12
16711-06-04PO | 9/16"X18 6 4 22 14.1 17
16711-06-06PO | 9/16"X18 10 6 22 | 141 | 17
16711-08-06PO | 3/4"X16 10 6 27.2 | 16.7 22
16711-08-08PO | 3/4"X16 12 8 2721 16.7 | 22
16711-10-10PO | 7/8"X14 16 10 30 193 | 24
16711-10-12PO | 7/8"X14 20 12 2941193 | 24
16711-12-08PO | 1.1/16'X12 12 8 345|219 | 27
16711-12-10PO | 1.1/16"X12 16 10 34 | 219 | 27
16711-12-12P0O | 1.1/16"X12 20 12 334|219 | 27

JIC Female 74°Cone Seat

Number: 26711-PO HOSE BORE DIMENSIONS

PART NO. THREAD E
DN DASH A C S2

26711-04-04PO | 7/16"X20 6 4 12.2 9 15
26711-05-04PO | 1/2"X20 6 4 12.2 | 95 17
26711-06-06PO | 9/16"X18 10 6 12.5 | 10.5 19
26711-08-06PO | 3/4"X16 10 6 125 ] 11 24
26711-08-08PO | 3/4"X16 12 8 14.7 11 24
26711-10-08PO | 7/8"X14 12 8 152 ] 13 27
26711-10-10PO | 7/8"X14 16 10 15.7 13 27
26711-12-12P0O | 1.1/16"X12 20 12 174 ] 15 32
26711-16-16PO | 1.5/16"X12 25 16 18.6 16 41

www.strongflex.com

4l



(S]@) StronZFlex

1.2 Hydraulic Hose Fittings

Socketless Hose Fitting

1.2 - 420 JIC 74°

90° JIC Compact Female 74°Cone

Number: 26791K-PO

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C H |S1 S2
26791K-04-04PO| 7/16"X20 6 4 11.7 9 18 11 17
26791K-06-04PO| 9/16"X18 6 4 14 1 105) 205 | 14 19
26791K-06-06PO| 9/16"X18 10 6 155|105 21 16 19
26791K-08-06PO| 3/4"X16 10 6 16 11 | 225 | 16 24
26791K-08-08PO| 3/4"X16 12 8 157 11 | 225| 19 24
26791K-10-10PO| 7/8"X14 16 10 185 | 12 27 22 27
26791K-12-12P0O| 1.1/16"X12 20 12 2151 15 30 27 32

1.2 - 421 SAE 90°

SAE Female 90°Cone Seat

Number: 27811-PO
Ref. SAE J513

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S2
27811-04-04PO | 7/16"X20 6 4 12.2 9 15
27811-05-04PO | 1/2"X20 6 4 13.7 | 9.5 17
27811-06-04PO | 5/8"X18 6 4 13.7 (113 | 22
27811-06-06PO | 5/8"X18 10 6 13.7 (113 | 22
27811-08-06PO | 3/4"X16 10 6 147 11 24
27811-08-08PO | 3/4"X16 12 8 147 11 24
27811-10-08PO | 7/8"X14 12 8 152 13 27
27811-12-12P0 | 1.1/16"X14 20 12 16.9 | 14.3 3

1.2 - 430 SAE 90°

Double Connector

Number: 90011-PO

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A d L
90011-04PO 6 4 84 | 43 48
90011-06PO 10 6 84 | 76 | 524
90011-08PO 12 8 84 | 9.9 61
90011-10PO 16 10 94 | 122 | 88
90011-12PO 20 12 10 | 155 | 87.2

www.strongflex.com




[L] StronZFlex 1.2 Hydraulic Hose Fittings

NOTES

The parameters in this catalogue are for reference only, and their dimensions and proportions may be a little
different from those of the real products. Products included in this catalogue don't refer to all , so if customers are
interested in other products, please don't hesitate to contact StrongFlex for further information.

StrongFlex has made much effort to record the correct data in this publication. However, in order to promote our
products, we may make some changes of their size or description, which haven't been shown yet. We reserve the
rights for explanation, but sorry for no further notice to customer the change of products' design, description or
even stop of some products' manufacture in future.

CONTACT US
SHIJIAZHUANG STRONGFLEX CO., LTD
Address: N0.88 Huaian West Road, Shijiazhuang, China

Phone: +86-311-87162178 Fax: +86-311-87162178
+86-311-87162169 +86-311-87663100
+86-311-87187255

E-Mail: sales@strongflex.com Website:www.strongflex.com

www.strongflex.com 73



	目录
	Sheet1



